			l	Estimated	l							1	Fixed Fee /	
SI. No	Name of location	Revenue District	Type of RO	monthly Sales Potential #	Category	Type of Site*	Minimum Dime Sq. M.). *	nsion (in M.)/Are	a of the site (in	Finance to be a applicant	arranged by the	Mode of Selection	Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		98	9b	10	11	12
					SC CC-1	CC / DC / CFS								
					SC CC-2									
					SC PH									
					ST CC-1									
					ST CC-2									
					ST PH OBC		-							
					OBC CC-1									
					OBC CC-2 OBC PH									İ
					OPEN		1				Estimated fund			İ
					OPEN CC-1					Estimated working capital	required for development of			İ
			Regular / Rural	MS+HSD in Kls	OPEN PH		Frontage	Depth	Area	requirement for operation of RO	infrastructure at RO	Draw of Lots / Bidding		
1	Between KM Stone 68 to 71 of NH 39(Old NH 75)	Palamau	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
2	Between KM Stone 50 to 53 of NH 39(Old NH 75)	Palamau	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
3	Between KM Stone 30 to 31 of NH 39(Old NH 75)	Palamau	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
4	Between KM Stone 74 to 77 of NH 39(Old NH 75)	Latehar	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
5	Between KM Stone 79 to 82 of NH 39(Old NH 75)	Latehar	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
6	Within 3 kms from Bahragora chowk towards	East Singhbhum	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
7	Jamshola on RHS on NH 06 Within 3 kms from Tiring Border towards Hata on	East Singhbhum	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
	LHS on NH 220 Within 3 kms from Tiring Border towards Hata on				ST						0		0	2
٥	RHS on NH 220 Within 3 kms from Bahragora chowk towards	East Singhbhum	Regular	150		CFS	35	45	1575	0		Draw of Lots	U	3
9	Jamshola on LHS on NH 06	East Singhbhum	Regular	150 100	ST ST	CFS CFS	35 20	45 20	1575 400	0	0	Draw of Lots	0	3
11	Between Saunda Chowk to Patratu Chowk Between Naya More Kuju to Salubera Chowk	Ramgarh Ramgarh	Regular Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots Draw of Lots	0	3
12	Redma Chowk to Patratu Chowk	Ramgarh	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
13	Within 5 kms from State Bank of India, Noamundi towards Barajamda on RHS on SH 04	West Singhbhum	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
14	Within 5 kms from State Bank of India, Noamundi towards Barajamda on LHS on SH 04	West Singhbhum	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
15	Within 6 KM from Ghatomore of Charhi towards Hazaribag on LHS on NH-33	HAZARIBAGH	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
16	Between Kilometer Stone No.1064 and 1068 on LHS from Delhi towards Kolkata on NH-2	HAZARIBAGH	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
17	Between Hiranpur to Littipara on RHS of Hiranpur	Pakur	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
18	Littipara Road Between ECL More and Balbadda on either side of	Godda	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
19	NH133 Between Balbadda to Meherma on either side of	Godda		150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	2
	NH133 Between Meherma to Thakurgangti on either side		Regular										0	,
20	of NH133  Between Thakurgangti Block To Mirzachoki Phatak	Godda	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
21	on Thakurgangti To Mirza Chowki Road	Godda	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
22	Within 5 Kms From Hansdiha Chowk Towards Bhagalpur on Hansdiha Bhagalpur Road	Dumka	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
23	Between Hiranpur to Littipara on LHS of Hiranpur Littipara Road	Pakur	Regular	100	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
24		Dhanbad	Regular	100	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
25	Within 3km from Binod Bihari Chowk towards	Dhanbad	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
26	Wasseypur Within 2km from Memko More on Bhuli-Hirak Road	Dhanbad	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
27	Between km stone 9 to 11 on MDR 141, Block-	Latehar	Rural	48	ST	CFS		20	400	0	0	Draw of Lots	0	2
28	Barwadih Between km stone 10 to 14 on MDR 128, Block-	Palamau	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
	Chatarpur Within 2 kms from Pardih Kalimandir towards Katin,													-
29	Block- Boram Within 2 kms from Bara Batla towards Dumuria	East Singhbhum	Rural	48	ST	CFS	20	20	400	U	0	Draw of Lots	U	2
30	Post Office. Block - Dumaria	East Singhbhum	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
31	Between Rampur to Ulahatu, Block - Namkum Within 2 km from Khandamauda PO towards	Ranchi East Singhbhum	Rural Rural	48	ST SC	CFS	20	20	400	0	0	Draw of Lots Draw of Lots	0	2
	Jambani. Block - Bahragora Within 2 km from Kota Sole towards PO										_			2
33	Chandrapur, Block - Bahragora	East Singhbhum	Rural	48	sc	CFS	20	20	400	0	0	Draw of Lots	U	2
34	Badia, Block - Mosabani	East Singhbhum	Rural	48	SC	CFS		20	400	0	0	Draw of Lots	0	2
35	From jarmundi to kerabani via haripur, Block- Jarmundi	Dumka	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
36		Dumka	Rural	46	sc	CFS		20	400	0	0	Draw of Lots	0	2
37 38	Tambajor village, Block- Jamtara Either side of paredih road, Block- Jamtara	Jamtara Jamtara	Rural Rural	46 46	ST ST	CFS CFS	20	20	400 400	0	0	Draw of Lots Draw of Lots	0	2
39		RANCHI	Regular	150	Open	CC	20	20	400	25	10	Bidding	30	5
40	Within 2 kms of Argora Chawk towaards Kathal	RANCHI	Regular	150	OBC	СС	20	20	400	25	10	Bidding	30	4
	More From Rammandir Chawk, Ranchi to IIM Ranchi										0	_	0	
41	Chawk on LHS	RANCHI	Regular	150	SC _	CFS	20	20	400	0		Draw of Lots		-
42	Between Km stone no 122 to 125 on NH 33 on RHS Between Km stone 23 to 28 on NH 23 on LHS	RANCHI RANCHI	Regular	150 150	Open	CC DC	20 35	20 45	400 1575	25 25	10 75	Bidding Draw of Lots	30 15	5
44	Within 5 kms of Argora Chawk towards Vidhan	RANCHI	Regular Regular	150	Open OBC	DC	20	20	400	25	60	Draw of Lots Draw of Lots	15	4
45	Sabha Within 6 kms of Piska More towards Itki More	RANCHI	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
46	Between Km stone no 29 to 33 on NH 23 on LHS	RANCHI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
47	On either side of Bariatu Road, Ranchi from Seventh	RANCHI	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
	Adventis School to Booty More	-		1	L	1	1				Ĭ.	1	1	

		T				1	1						ı	
				Estimated monthly Sales				nsion (in M.)/Are	a of the site (in	Finance to be a	rranged by the		Fixed Fee / Minimum Bid	
SI. No 1	Name of location 2	Revenue District 3	Type of RO 4	Potential # 5	Category 6	Type of Site*	Sq. M.). *	8		applicant 9a	9b	Mode of Selection 10	amount 11	Security Deposit
48	From Khelgaon Chawk, Ranchi towards Tantisilwai on Khelgaon-Tantisilwai Road within 5 kms on RHS	RANCHI	Regular	100	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
49	From Khelgaon Chawk, Ranchi towards Tatisilwai on Khelgaon-Tantisilwai Road within 5 kms on LHS	RANCHI	Regular	100	Open	сс	20	20	400	25	10	Bidding	30	5
50	From Kutchery Chawk, Ranchi to Nucleaus Mall on Circular Road	RANCHI	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
51	From Tilta Chawk, Ranchi towards Daladali Chawk	RANCHI	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
52	on Ring Road within 4 kms on LHS Between Albert Ekka Chawk to Kutchery Chawk on	RANCHI	Regular	150	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
53	Kutcherv Road  Between Km stone no 114 to 118 on NH 33 on RHS	RANCHI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
54	From Chandni Chawk, Kankey to Kankey Thana	RANCHI	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
55	Chawk on Kankev Road on either side From Bariatu-Booty Road within 3 kms on Cheshire	RANCHI		150	OBC	cc	20	20	400	25	10	Bidding	30	4
56	Home Road towards Cheshire Home Between Km stone no 6 to 9 on Morabadi -	RANCHI	Regular Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	-
	Ormanihi Road on either sides From Deori Mandir Towards Ranchi within 5 kms on							-						-
57	NH 33 on LHS From Karamtoli Chawk, Ranchi towards Jail More	RANCHI		150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
58	Chawk on LHS From Tatisilwai PS towards Namkum within 3 kms	RANCHI	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
59	on SH1 Between Km stone 24 & 28 on RHS on Ring Road	RANCHI	Regular	100	OBC	CC	35	35	1225	25	10	Bidding	30	4
60	from Rampur towards Kathitand	RANCHI		100	Open	CC	20	20	400	25	10	Bidding	30	5
61	From Kantatoli Chawk, Ranchi to Bahubazar Chawk on RHS	RANCHI	Regular	150	Open CC 2	CC	20	20	400	25	10	Bidding	30	5
62	From Patel Chawk, Ranchi to Siromtoli Chawk on RHS	RANCHI	Regular	150	OBC CC 1	сс	20	20	400	25	10	Bidding	30	4
63		RANCHI	Regular	150	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
64	From Dakra Stadium towards Tandwa within 5 kms on SH 7	RANCHI	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
65	From Birsa Agriculture University Main gate, Kankey towards Pithoria within 5 kms on LHS on SH-2	RANCHI	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
66	From Pithoria Chawk towards Ranchi on SH2 within 5 kms on either side	RANCHI	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
67	From Ring Road crossing towards Khunti on NH 75E within 2 kms on LHS	RANCHI	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
68	From Khalari PS towards Bijupara within 5 kms on SH7 (Hazaribagh-Tandwa Tangar Rd)	RANCHI	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
69	Between Km stone no 118 to 122 on NH 33 on RHS	RANCHI	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
70	Within 3 Kms from Bero chowk towards Gumla on NH 23 on RHS	RANCHI	Regular	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
71	From km stone 150 to km stone 154 on NH 33 on	RANCHI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
72	RHS From Kantatoli Chawk, Ranchi to Bahubazar Chawk	RANCHI	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
73	on LHS  Between Km stone no 110 to 114 on NH 33 on RHS	RANCHI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
74	From Karamtoli Chawk, Ranchi towards Bariatu	RANCHI	_	150	OBC	сс	20	20	400	25	10	Bidding	30	4
75	within 3 kms on LHS Between Ambedkar Chawk, Ranchi to Vivekanand	RANCHI	Regular	150	Open CC 1	СС	20	20	400	25	10	Bidding	30	-
76	Chawk From Km Stone 24 and 28 on Ring Road on LHS	RANCHI	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
77	From Bero towards Lohardaga within 4 kms of Bero on Lohardaga Road	RANCHI	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
78	From Kathitand Crossing towards Ratu within 5 kms on either side	RANCHI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
79	From Lawrence High School, Hurhuri to Kathitand Chawk on LHS	RANCHI	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
80	From Karamtoli Chawk, Ranchi towards Bariatu	RANCHI	Regular	150	OBC	СС	20	20	400	25	10	Bidding	30	4
81	within 3 kms on RHS From Tilta Chawk towards Daladali Chawk on Ring	RANCHI	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
82	Road within 4 kms on RHS  Between km stone 102 and 106 on RHS on NH 33	RANCHI		150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
83	Between km 106 and 110 on RHS on NH 33	RANCHI		150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
84	Within 4 kms of Central University on Bramhe- Thakurgaon Road towards Thakurgaon	RANCHI		100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
85	Between Ambedkar Chouk, Doranda and Shanti Rani School toward Namkum	RANCHI	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
86	Between km stone 102 and 105 on LHS on NH 33	RANCHI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
87	Between km stone 105 and 109 on LHS on NH33	RANCHI		150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
88	From Dangratoli Chawk, Ranchi to Mission Chawk	RANCHI		150	OBC PH	сс	20	20	400	25	10	Bidding	30	4
89	on RHS From Km stone no 8 to 13 on Tamar-Khunti-	RANCHI	Regular	100	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
90	Kolebira Road (SH 3) From km stone 109 and 114 on LHS on NH 33	RANCHI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
91	From km stone 114 and 118 on LHS on NH 33 Within 2 kms from Chandwe Chawk towards	RANCHI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
92	Morabadi on Boreya Road on RHS From km stone 118 and 122 on LHS on NH 33	RANCHI RANCHI	Regular Regular	100 150	OBC Open	DC DC	20 35	20 45	400 1575	25 25	45 75	Draw of Lots Draw of Lots	15 15	4
94	Upto 5 Kms from Chanho PS towards Kuru on NH75	RANCHI		150	ST	CFS	35	45	1575	0	0	Draw of Lots		3
95	On RHS From km stone 122 and 125 on LHS on NH 33	RANCHI	Regular	150	Open	cc	20	20	400	25	10	Bidding	30	5
96	From Mandar Chawk to Kesa More on Tangrabasuli- Bero Road	RANCHI	Regular	100	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
97	From km stone 125 and 128 on LHS on NH 33 From Mission Chawk, Ranchi to Sarjana Chawk on	RANCHI		150	Open	CC	20	20	400	25	10	Bidding	30	5
98	RHS	RANCHI		150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
99	Within 6 Kms from SH2- Ring Road junction towards Ormaihi on Ring Road on RHS	RANCHI		100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
100	From Km Stone 28 and 32 on Ring Road on RHS	RANCHI	Regular	100	Open	cc	20	20	400	25	10	Bidding	30	5
101	Between Vivekanand Chawk, Ranchi to Rajendra Chawk via Doranda Head Post Office	RANCHI	Regular	150	Open CC 1	сс	20	20	400	25	10	Bidding	30	5
102	From SH2- Ring Road junction to Tilta Chouk on Ring Road on RHS	RANCHI	Regular	100	OBC	сс	20	20	400	25	10	Bidding	30	4
103	From km stone 135 and 140 on NH 33 From Ring Road crossing towards Khunti on NH 75E	RANCHI	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
104	within 2 kms on RHS From Deori Mandir Towards Ranchi within 5 kms on	RANCHI		150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
105	NH 33 on RHS	RANCHI	Regular	150	Open	cc	35	45	1575	25	10	Bidding	30	5

				L		l				l		1		l
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dime Sa. M.). *	nsion (in M.)/Are	a of the site (in	Finance to be a applicant	rranged by the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	Sq. m.).	8		9a	9b	10	11	12
106	From SH2- Ring Road junction to Tilta Chouk on Ring Road on LHS	RANCHI	Regular	100	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
107	From km stone 140 and 145 on NH 33	RANCHI	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
108	From Deori Mandir Towards Jameshedpur within 5 kms on NH 33 on RHS	RANCHI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
109	From Deori Mandir Towards Jameshedpur within 5 kms on NH 33 on LHS	RANCHI	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
110	Between Dangra toli Chouk, Ranchi and Lalpur Chowk*	RANCHI	Regular	150	Open	сс	20	20	400	25	10	Bidding	30	5
111	From Dangratoli Chawk, Ranchi to Mission Chawk	RANCHI	Regular	150	OBC CC 1	сс	20	20	400	25	10	Bidding	30	4
112	on LHS Within 500 mtrs on either side of Sidhoo Kanhu	RANCHI	Regular	150	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
113	Park in Ranchi Town	RANCHI	Regular	150	Open PH	сс	20	20	400	25	10	Bidding	30	5
114	Unto 5 Kms from Birsa Chowk Tanung towards				OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	Dolaicha on Ranchi-Lapung Road 4 km from Malmadu Chawk towards Burmu from	RANCHI	Regular	100							-			4
115	Katitand	RANCHI	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
116	Upto 5 Kms from Chanho PS towards Kuru on NH75 On LHS	RANCHI	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
117	Upto 3 Kms From Saffire Internation School, Hardag towards Ranchi on NH75E on LHS	RANCHI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
118	Upto 5 Kms from Bero Chouk on Bero-Saimandir Road	RANCHI	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
119	Within 2 kms from Chandwe Chawk towards Morabadi on Boreya Road on LHS	RANCHI	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
120	Upto 3 Kms from Itki Railway Station towards Itki	RANCHI	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
121	mode Upto 3 Kms From Saffire Internation School, Hardag	RANCHI	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
	towards Ranchi on NH75E on RHS													
122	Upto 6 Kmsfrom Ring Road and Ormajhi-Boreya Road Jn towards Kanke on Ring Road on LHS	RANCHI	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
123	Between km stone 19 to 22 on Kuchu Road (Morahadi-Ormanihi Road)	RANCHI	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
124	(Morabadi-Ormanihi Road) From Mission Chawk, Ranchi to Sarjana Chawk on	RANCHI	Regular	150	Open CC 1	сс	20	20	400	25	10	Bidding	30	5
125	LHS From Km Stone 5 and 10 on Ring Road on LHS	RANCHI	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
126	Between milestone no 5 and 13 on Sikidri Road on both sides	RANCHI	Regular	100	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
127	From KM Stone 150 to km stone 155 on NH 22 on	RANCHI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
128	From km stone 155 and 160 on LHS on NH 33	RANCHI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
129	Within 4 kms from NH33 and Tamar-Khunti Road on SH3	RANCHI	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
130	Within 4 kms of Bijupara Crossing towards Chanho on NH 75	RANCHI	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
131	From Piska More to Ravi Steel Chawk on either side	RANCHI	Regular	150	Open	сс	20	20	400	25	10	Bidding	30	5
132	on Ratu-Arvapuri Road Upto 4 Kms from Durga Soren Chowk toward	RANCHI	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
133	Tatisilwai on SH1	RANCHI	-	150	OBC	сс	20	20	400	25	10	Bidding	30	4
134	From Km Stone 3 and 7 on Ring Road on RHS	RANCHI	Regular Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
135	From Km Stone 28 and 32 on Ring Road on LHS	RANCHI	Regular	100	Open	CC	20	20	400	25	10	Bidding	30	5
136	From Shadabahar Chouk, Namkum to Kutiatu, Namkum	RANCHI	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
137	Between Sirom Toli Chawk and Kathatoli Chawk on Old H. B Road	RANCHI	Regular	150	OBC	СС	20	20	400	25	10	Bidding	30	4
138	From Karamtoli Chawk towards Jail More Chawk on	RANCHI	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
139	RHS Within 6 Kms from SH2- Ring Road junction towards	RANCHI	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
140	Ormaihi on Ring Road on LHS From Firayalal Chawk to Lalpur Chawk on	RANCHI	Regular	150	OBC	сс	20	20	400	25	10	Bidding	30	4
	Hazaribagh Road Upto 5 Kms from Bijupada-Khalari Road Jn towards		-											-
141	Ranchi on NH75 on RHS	RANCHI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
142		RANCHI	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
143	Within 2 kms of Karamtoli Chauk towards Kanko	RANCHI		150	ST	CFS	35	45	1575	0	10	Draw of Lots	20	4
144	Road Between Bagalatta More, Churi to Ray Bazaar	RANCHI RANCHI	Regular Regular	150 100	OBC	CC DC	20	20	400	25 25	10 45	Bidding Draw of Lots	30 15	5
146	From Bahubazar Chawk within 2 kms on Chutia-	RANCHI	Regular	150	Open	CC	20	20	400	25	10	Bidding	30	5
147	Namkum Road Upto 5 Kms from Bijupada-Khalari Road Jn towards	RANCHI	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
	Ranchi on NH75 on LHS Between Milestone no 19 and milestone no 23 on										75		15	4
148 149	NH 23 on LHS towards Bero Between Km Stone 188 to 198 on NH33 on RHS	RANCHI RANCHI	Regular Regular	150 150	OBC Open	DC DC	35 35	45 45	1575 1575	25 25	75 75	Draw of Lots Draw of Lots	15 15	+
150	From Patel Chawk, Ranchi to Siromtoli Chawk on	RANCHI	Regular	150	Open CC 1	CC	20	20	400	25	10	Bidding	30	5
151	LHS Between Km Stone 170 to 175 on NH33 on LHS	RANCHI	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
152	From Rammandir Chawk, Ranchi to IIM Ranchi Chawk on RHS	RANCHI	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
153	Between Km Stone 188 to 198 on NH33 on LHS	RANCHI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
154 155	From Kantatoli Chouk to Durga Soren Chowk Between Km Stone 170 to 175 on NH33 on RHS	RANCHI RANCHI	Regular Regular	150 150	Open OBC	CC DC		20 45	400 1575	25 25	10 75	Bidding Draw of Lots	30 15	5 4
156	Upto 3 Km From Shanti Rani School towards	RANCHI	Regular	150	ST	CFS		20	400	0	0	Draw of Lots	0	3
157	Namkum on RHS Within 4 kms of Shastri Chawk/Block Chawk on	RANCHI	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
158	Boreya -Tagore Hill Road From SBI, Dhurwa to Ring Road Jn, Sithiyo on	RANCHI		100		DC	20		400	25	45		15	5
	Lodhma Road Upto 3 Kms from Ithe Mode towards Brambe on		Regular		Open			20		1		Draw of Lots		
159	Thakurgaon Road	RANCHI	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
160	Upto 6 Kms from Ring Road-NH33 Jn towards Rampur on RHS	RANCHI	Regular	100	Open	СС	20	20	400	25	10	Bidding	30	5
161	Between Kutchery Chawk to Jail Chawk on Circular Road	RANCHI	Regular	150	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
162	Between Ratu Road Chawk & Sahjanand Chawk on Harmu Road	RANCHI	Regular	150	Open CC 2	сс	20	20	400	25	10	Bidding	30	5
163	From Plaza Chawk, Ranchi to Karbala Chawn on LHS	RANCHI	Regular	150	OBC CC 1	сс	20	20	400	25	10	Bidding	30	4
164	Upto 6 Kms from Ring Road-NH33 Jn towards	RANCHI	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
	Rampur on LHS  Upto 3 Kms from Mccluskieganj Railway Crossing													
165	towards Balumath on Balumath Road	RANCHI	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
166	Upto 7 Kms from Mandar PS towards Budhmu on	RANCHI	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	Budhmu-Mandar Road			<u> </u>		<u> </u>				·	<u> </u>	1		

1				Estimated									Sud Sud	
SI. No	Name of location	Revenue District	Type of RO	monthly Sales Potential #	Category	Type of Site*	Minimum Dimer Sq. M.). *	nsion (in M.)/Area	a of the site (in	Finance to be a applicant	rranged by the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
167	Between km stone 15 to 18 on Kuchu Road (Morabadi-Ormanjhi Road)	RANCHI	Regular	100	Open	cc	20	20	400	25	10	Bidding	30	5
168	Between KM stone no 14 and KM stone no 17 on NH 23 on LHS towards Bero	RANCHI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
169	From Nayasarai Railway Crossing to Ring Road Jn on Nayasarai Road	RANCHI	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
170	Between Birsa Chowk and Vivekananda Chowk via	RANCHI	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
171	Hinoo Between Ring Road Jn, Tipudana to Birsa Chowk on	RANCHI	Regular	150	Open	сс	20	20	400	25	10	Bidding	30	5
172	LHS  Returne Ring Road In Tinudana to Ring Chourk on	RANCHI	Regular	150	Open	СС		20	400	25	10	Bidding	30	-
1/2	RHS	KANCHI	Regulai	130	Орен	cc	20	20	400	23	10	Bidding	30	,
173	Upto 6 Kms from Ring Road and Ormajhi-Boreya Road Jn towards Kankey on Ring Road on RHS	RANCHI	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
174	On SH 10 in Herhanj	Latehar	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
175	Within 3 KM on either side of road from Murmusi Primary school towards Panki on SH 10	Palamau	Regular	180	Open	сс	35	35	1225	25	10	Bidding	30	5
176	Between KM stone 150 to 155 on NH 343	Garhwa	Regular	156	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
177	Within 2 KM from Bairiya Chowk towards Jond	Palamau	Regular	100	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
178	Garu on SH 9 on Betla Mahuadand Road	Latehar	Regular	156	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
179	Between KM stone of 84 to 88 of NH 39(old NH 75)	Palamau	Regular	156	Open	сс	35	45	1575	25	10	Bidding	30	5
180	From Brahmoria More to 3 KM towards Rehla on NH 39(Old NH 75)	Palamau	Regular	228	Open	сс	35	45	1575	25	10	Bidding	30	5
181	Within 3KM from Panki Police Station towards	Palamau	Regular	174	OBC	сс	35	35	1225	25	10	Bidding	30	4
182	Balumath within 2 KM on either side of Itko Chowk on NH	Palamau		230		DC	35	45	1575	25	75	Draw of Lots	15	5
	139(Old NH 98)		Regular		Open					0	-		2	
183	Between KM Stone 90 to 93 of NH 39(old NH 75) Within 5 KM from Ranka More(Garhwa Town))	Garhwa	Regular	204	ST	CFS	35	45	1575	U 	0	Draw of Lots		3
184	towards Ranka on NH 343	Garhwa	Regular	154	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
185	Between KM stone 101 to 104 of NH 22 (Old NH 99)	Latehar	Regular	245	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
186	Within 3 KM from PM Kaushal Vikas Kendra Garhwa	Garhwa	Regular	105	Open	DC	20	20	400	25	45	Draw of Lots	15	5
	towards Daltonganj on Garhwa Shahpur Road within 2 KM either side of chaigona Dham Mandir											- ,		
187	on NH 139	Palamau	Regular	240	SC PH	CFS	35	45	1575	0	0	Draw of Lots	0	3
188	Between KM stone of 209 to 212 of NH 39 on either side from Rehla to Garhwa(Old NH 75)	Garhwa	Regular	174	OBC PH	DC	35	45	1575	25	75	Draw of Lots	15	4
189	Within 2 KM from Naurang Chowk towards Latehar Police Station	Latehar	Regular	108	Open	DC	20	20	400	25	45	Draw of Lots	15	5
190	Within 1KM on either side of RCIT College Bishrampur. Distt Palamu	Palamau	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
191	Between KM stone 70 to 73 of NH 39 (Old NH 75)	Latehar	Regular	220	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
192	Within 4 KM from Birsa Chowk(Mahuadand)	Latehar	Regular	132	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
193	towards Netarhat on SH 9  Between KM Stone 233 to 236 of NH 39(Old NH 75)	Garhwa	Regular	174	Open	СС	35	45	1575	25	10	Bidding	30	5
	Within 3 KM on either side of road from samudayik												-	
194	Swashthya Kendra Ranka towards Garhwa	Garhwa	Regular	168	Open	cc	35	45	1575	25	10	Bidding	30	5
195	Between KM stone of 205 to 208 of NH 39 on either	Garhwa	Regular	174	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
196	side from Rehla to Garhwa(OLD NH 75) Within 3 KM from Padwa Patan More towards	Palamau	Regular	120	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
197	Patan Within 2 KM on either side of road from Kanhar	Garhwa	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
198	Bridge towards Godermana Between KM stone of 127 to 130 of NH 39	Palamau	Regular	168	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
199	Between KM Stone of 111 to 114 of NH 22	Latehar	Regular	174	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
200	Within 3 KM from Chhatarpur Police Station Chowk towards Japla	Palamau	Regular	116	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
201	Between KM stone of 56 to 60 on NH 139(Old NH98)	Palamau	Regular	164	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
202	Between KM Stone 242 to 246 of NH 39(Old NH 75)	Garhwa	Regular	168	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
203	Between KM Stone 20 to 24 of SH 10 towards	Palamau	Regular	156	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
204	Balumath Between KM stone 40 to 43 of NH 139	Palamau	Regular	168	Open	СС	35	45	1575	25	10	Bidding	30	5
205	Between KM Stone 121 to 124 on either side of NH 39(Old NH 75)	Latehar	Regular	168	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
206	Within VM Stone of 220 to 222 on NH 20/old NH	Garhwa	Regular	224	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
207	Between KM Stone 29 to 32 of SH 10 towards	Palamau	Regular	156	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
208	Balumath Between KM stone of 155 to 158 on NH 39(Old NH	Palamau	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
209	75) Within 2KM towards Shahpur from Koyal River	Palamau		120		DC	20	20	400	25	45		15	5
	bridge on Shahpur Ramkanda Road within 2 KM either side of Sildag Aanganbadi Kendra		Regular		Open							Draw of Lots	10	3
210	on NH 139	Palamau	Regular	164	ST CC 1	CFS	35	45	1575	0	0	Draw of Lots	U	3
211	Within 3 KM on either side of road between KM Stone 115 to 118 on Panki Balumath Road on SH 10	Palamau	Regular	108	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
212	Potuson VM stone 111 to 114 on NH 20/Old NH	Latehar	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	75) Within 4 KM From Dangwar Police Station towards		Regular											-
213	Japla on Japla Barun Road	Palamau Palamau	Regular	120	Open PH ST	DC CFS	35	20 45	400 1575	0	45 0	Draw of Lots Draw of Lots	15	2
214	Between KM stone 193 to 196 of NH 39  Between KM Stone 224 to 227 of NH 39(Old NH 75)		Regular Regular	204	OBC	DC		45	1575	25	75	Draw of Lots  Draw of Lots	15	4
216	On Latehar Bypass road	Latehar	Regular	128	Open	DC	20	20	400	25	45	Draw of Lots	15	5
217	Between KM Stone 253 to 256 of NH 39(Old NH 75)		Regular	199	OBC	DC		45	1575	25	75	Draw of Lots	15	4
218	Within 4 KM from Jai Prakash Chowk Japla towards	Palamau	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
219	Chhatarour	Palamau	Regular	168	Open	DC		45	1575	25	75	Draw of Lots	15	5
220	Within 2 Km From Manika PS on either side of NH	Palamau	Regular	184	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	39					DC	35	45	1575	25	75	Draw of Lots	15	5
221	39 Between KM stone of 131 to 135 of NH 39	Palamau	Regular	169	Open	DC	33	45	1373	23				
221	Between KM Stone 237 to 240 of NH 39(Old NH 75)		Regular Regular	169 224	Open OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
	Between KM Stone 237 to 240 of NH 39(Old NH 75) Within 3 KM from Rajkiya Utkramit Madhya	Garhwa	Regular	224		DC	35		1575			Draw of Lots	15	3
222	Between KM Stone 237 to 240 of NH 39(Old NH 75) Within 3 KM from Rajkiya Utkramit Madhya Vidyalaya Annaraj, Nawadih towards Garhwa on NH 343	Garhwa		224	OBC	DC	35	45		25	75	Draw of Lots		3

		Γ	1		1		1					ı		
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		nsion (in M.)/Are	a of the site (in		rranged by the	Mode of Selection	Fixed Fee / Minimum Bid	Security Deposit
1	Name or location 2	3	4	5	6	7	Sq. M.). *	8		applicant 9a	9b	10	amount 11	12
226	Between KM Stone 249 to 252 of NH 39(Old NH 75)	Garhwa	Regular	174	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
227	Between KM stone 45 to 48 of NH 139	Palamau	Regular	160	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
228	Within 3 KM from Meral Gram PS towards Garhwa on NH 39(old NH 75)	Garhwa	Regular	228	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
229	Between KM stone of 64 to 67 on NH 139(Old NH98)	Palamau	Regular	184	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
230	between KM stone 107 to 110 on either side of NH 39(Old NH 75)	Latehar	Regular	224	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
231	Between KM Stone 57 to 60 on NH 139 (Old NH 98)	Palamau	Regular	154	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
232	Between Belchampa to Side Kalan on NH 39(Old NH	Garhwa	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
233	75) in Garhwa District Between KM stone of 151 to 154 on NH 39(Old NH	Palamau	-	240	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
	75) Between KM stone of 159 to 162 on NH 39(Old NH		Regular											-
234	75) Between KM stone 215 to 218 on NH 39(Old NH	Palamau	Regular	154	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
235	75)	Garhwa	Regular	154	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
236	Between KM Stone 96 to 99 of NH 22 (Old NH 99)	Latehar	Regular	164	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
237	Between KM Stone 107 to 110 of NH 22 (Old NH 99)	Latehar	Regular	174	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
238	Between KM stone 91 to 94 on NH 22 (Old NH 99)	Latehar	Regular	154	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
239	within 4 KM from Koyel River bridge towards	Palamau	Regular	120	Open	DC	20	20	400	25	45	Draw of Lots	15	5
240	Daltonganj Between KM Stone 116 to 119 on NH 39(Old NH	Latehar	Regular	164	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
241	75) Between KM Stone of 140 to 143 of NH 39	Palamau		164	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
242	Within 5 KM from Ghaghra Chowk toward Gumla	Gumla		105	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
243	On By Pass road of Gumla connecting NH 143	Gumla	Regular	105	Open	сс	20	20	400	25	10	Bidding	30	5
243	(Gumla - Simdega road) - NH 43 (Gumla - Ranchi Road)	Gunlla	neguidi	103	Ореп		20	20	400	2.3	10	Bidding	50	,
244	Within 2 km of either side of Bishanpur thana on Ghaghra-Bishunpur Road	Gumla	Regular	105	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
245	Within KMS No. 656 to end of Gumla District (Ranchi Side) on NH 43 (Ranchi- Gumla Road)	Gumla	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
246	Within KMS No. 15 to KMS No. 25 on NH 143 Gumla	Gumla	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
247	Simdega - Birmitrapur Road Within KMS No. 635 to KMS No. 640 on NH 43	Gumla	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
248	(Ranchi- Gumla - Jashpur Road) Within 5 KM from Ghaghra Chowk towards	Gumla		105	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
	Lohardaga but not beyond Gumla district Within KMS No. 630 to KMS No. 635 on NH 43		-											-
249	(Ranchi- Gumla - Jashpur Road) Within KMS No. 25 and End of Gumla District	Gumla	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
250	(Simdega Side) on NH 143 Gumla Simdega -	Gumla	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
	Birmitranur Road Within 5 km from Jharkhand Gramin Bank, Longa													
251	Branch but not beyond gumla district towards Kolebira on SH 3	Gumla	Regular	105	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
252	Within 4 KM from Kuru Chowk towards Lohardaga	Lohardaga	Regular	105	Open CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
253	Within KMS No. 630 to KMS No. 624 on NH 43	Gumla	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
254	(Ranchi- Gumla - Jashpur Road) Within KMS No. 650 to KMS No. 656 on NH 43	Gumla	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
	(Ranchi- Gumla - Jashour Road)  Between End of Municipal Limit of Gumla Town and		-										_	-
255	KMS No. 15 on NH 143 towards Simdega	Gumla	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
256	Within Municipal Limit of Gumla Town on Ranchi - Gumla - Simdega Road	Gumla	Regular	110	Open	сс	20	20	400	25	10	Bidding	30	5
257	Within Municipal Limit of Gumla Town on Raidih -	Gumla	Regular	110	Open	сс	20	20	400	25	10	Bidding	30	5
258	Gumla - Lohardaga Road Within KMS No. 645 to KMS No. 650 on NH 43	Gumla	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
259	(Ranchi- Gumla - Jashpur Road) Within 5 KM from Tamar More at Khunti towards	Khunti	_	150	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
	Tamar on SH-3 Within KMS No. 598 till end of Jharkhand Border NH		-											4
260	43 (Ranchi- Gumla - Jashpur Road) Between KM stone 95 and 100 on NH-33 on RHS	Gumla	_	150	Open	DC	35	45	1575	25	75	Draw of Lots		5
261	while moving towards Ranchi	RAMGARH	Regular	150	Open CC 2	DC	35	45	1575	25	75	Draw of Lots	15	5
262	Between Km stone no 53 & 58 on NH 23 in either direction	Ramgarh	Regular	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
263	Within 5 km from Jharkhand Gramin Bank, Longa Branch but not beyond gumla district towards	Gumla	Regular	105	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
264	Khunti on SH 3 Between KMS 22 to KMS 27 on NH 75 E	Khunti	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
265	Between KMS 27 to KMS 32 on NH 75 E	Khunti	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
266	Within 6 KMs from Kuru Chowk, towards Daltongani on NH 75	Lohardaga	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
267	Within KMS No. 640 to KMS No. 645 on NH 43 (Ranchi- Gumla - Jashpur Road)	Gumla	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
268	Between KMS 42 to KMS 47 on NH 75 E	Khunti	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
269 270	Between KMS 47 to KMS 52 on NH 75 E Henjla Masjid Chowk to Kuru Chowk on NH 75	Khunti Lohardaga	Regular Regular	150 150	Open OBC	DC DC	35 35	45 45	1575 1575	25 25	75 75	Draw of Lots Draw of Lots	15 15	4
271	Between start of Khunti District (From Ranchi Side)	Khunti	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
272	and KMS No. 22 on NH 75 E  Between Km stone no 63 & 68 on NH 23 in either	Ramgarh	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
273	direction Upto Municipal Limit from Barwatoli Chowk,	Lohardaga		105	Open	cc	20	20	400	25	10	Bidding		5
	Lohardaga towards Gumla Between Km stone no 48 & 53 on NH 23 in either	-										_		_
274	direction Between KM stone 95 and 100 on NH-33 on LHS	Ramgarh	_	150	OBC	DC	35	45	1575	25	75	Draw of Lots		4
275	while moving towards Ranchi	RAMGARH	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
276	Within 5 KM of Khunti Chowk towards Torpa on SH	Khunti	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
277	Between Km stone no 58 & 63 on NH 23 in either direction	Ramgarh	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
278	Upto Municipal Limit from Barwatoli Chowk, Lohardaga towards Kuru	Lohardaga	Regular	105	Open	СС	20	20	400	25	10	Bidding	30	5
279	Between KM stone 65 and 70 on NH-33 on LHS	Ramgarh	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
280	while moving towards Ranchi Between Km stone no 68 & 73 on NH 23 in either	Ramgarh		150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
281	direction Between KMS 32 to KMS 37 on NH 75 E	Khunti	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
282	Between KM stone 65 and 70 on NH-33 on RHS	Ramgarh		150	Open	сс	35	45	1575	25	10	Bidding	30	5
	while moving towards Ranchi	l .		l		ı			l	l	l	1	ı	

<u> </u>				Estimated		1						1	Fixed Fee /	
SI. No	Name of location	Revenue District	Type of RO	monthly Sales Potential #	Category	Type of Site*	Minimum Dime Sq. M.). *	nsion (in M.)/Are	a of the site (in	Finance to be a applicant	rranged by the	Mode of Selection	Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
283	Between KM stone 70 and 75 on NH-33 on LHS while moving towards Ranchi	Ramgarh	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
284	Within Municipal Limit from Thana Chowk (Gola more) at Ramgarh Town towards Bokaro in either direction	Ramgarh	Regular	110	OBC	сс	20	20	400	25	10	Bidding	30	4
285	Between KMS 37 to KMS 42 on NH 75 E Between KM stone 70 and 75 on NH-33 on RHS	Khunti	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
286	while moving towards Ranchi	Ramgarh	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
287	Between KM stone 75 and 80 on NH-33 on LHS while moving towards Ranchi	RAMGARH	Regular	150	Open	cc	35	45	1575	25	10	Bidding	30	5
288	Within 5 KM from Bano Chowk towards Manoharpur on SH 4	Simdega	Regular	105	OBC PH	DC	35	35	1225	25	60	Draw of Lots	15	4
289	Between KM Stone 65 till District of Ramgarh on NH 33 Towards Hazaribagh on RHS	RAMGARH	Regular	150	SC PH	CFS	35	45	1575	0	0	Draw of Lots	0	3
290	Potygon VM stone 75 and 90 on NH 22 on BHC	RAMGARH	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
291	Between KM stone 80 and 85 on NH-33 on LHS	RAMGARH	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
292	while moving towards Ranchi Within Municipal Limit from Ranchi Road Over	Ramgarh	Regular	110	OBC	СС	20	20	400	25	10	Bidding	30	4
293	Bridge towards Hazaribagh Between KM stone 80 and 85 on NH-33 on RHS	RAMGARH	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	_
294	while moving towards Ranchi Between KMS No. 52 till end of Khunti District on	Khunti			ST		35	45		0	0		0	2
	NH 75 E while moving Chaibasa Between KM stone 85 and 90 on NH-33 on LHS		Regular	150		CFS			1575	U		Draw of Lots	U	3
295	while moving towards Ranchi Between End of Ramgah district (Bokaro Side) &	RAMGARH	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
296	KMS No. 48 on NH 23 in either direction on NH 23	Ramgarh	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
297	Between KM stone 85 and 90 on NH-33 on RHS while moving towards Ranchi	RAMGARH	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
298	Within KMS No. 70 to KMS No. 80 on NH 143 Gumla Simdega - Birmitrapur Road	Simdega	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
299		Ramgarh	Regular	110	OBC	сс	20	20	400	25	10	Bidding	30	4
300	Between KM stone 90 and 95 on NH-33 on LHS while moving towards Ranchi	RAMGARH	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
301	Between KM Stone 65 till District of Ramgarh on NH	RAMGARH	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
302	within municipal limit from Thana Chowk, Ramgarh	Ramgarh	Regular	110	OBC	СС	20	20	400	25	10	Bidding	30	4
303	towards Ranchi Within 5 KM from SBI Bichna Branch on SH 3	Khunti	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
	Returner VM stone 00 and 05 on NH 22 on PHS	RAMGARH	-				35				75		15	5
304	while moving towards Ranchi Within 5 km from Subhash Chowk Ramgarh		Regular	150	Open	DC		45	1575	25		Draw of Lots	15	2
305	towards Patratu in on LHS Within KMS No. 608 to KMS No. 613 on NH 43	Ramgarh	Regular	105	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
306	(Ranchi- Gumla - Jashpur Road)	Gumla	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
307	Within 3 KM from Gamharia Chowk towards Gumla on SH 8	Lohardaga	Regular	105	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
308	From end of Municipal Limit of Gumla town(Raidih side) till KMS No. 613 NH 43 (Ranchi- Gumla - lashpur Road)	Gumla	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
309	Within KMS No. 603 to KMS No. 608 on NH 43	Gumla	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
310	Within 5 Km from Kolebira Chowk towards Bano on	Simdega	Regular	105	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
311	SH 4 Within KMS No. 50 to KMS No. 60 on NH 143 Gumla	Simdega	Regular	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
312	Between End of Municipal Limit of Gumla Town to	Gumla	Regular	150	ST CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	
313	Road)	Ramgarh		150	Open PH	DC	35	45	1575	25	75	Draw of Lots	15	-
	Mithin 5km from Bank of India Tacharagarh Branch	-	Regular											
314	towards Bano on SH 4	Simdega	Regular	105	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
315	Within KMS No. 50 and End of Simdega District (Gumla Side) on NH 143 Gumla - Simdega - Birmitrapur Road	Simdega	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
316	Within KMS No. 100 to KMS No. 110 on NH 143	Simdega	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
317	Within KMS No. 60 to KMS No. 70 on NH 143 Gumla	Simdega	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
318	Within 5km from Bank of India, Lacharagarh Branch	Simdega	Regular	105	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
319	towards Kolebira on SH 4 Within KMS No. 80 to KMS No. 90 on NH 143 Gumla	Simdega	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	Simdega - Birmitrapur Road Within KMS No. 110 to end of Jharkhand													-
320	Birmitrapur Road	Simdega	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
321	Start of Lohardaga District (Ranchi Side) till Henjla Masiid Chowk on NH 75	Lohardaga	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
322	Within KMS No. 90 to KMS No. 100 on NH 1/13	Simdega	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
323	Within KMS No. 598 to KMS No. 603 on NH 43 (Ranchi- Gumla - Jashpur Road)	Gumla	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
324	Within 3 Kms from Phuldungri Chowk towards  Jamshedour on RHS on NH 33	East Singhbhum	Regular	180	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
325	Between mango chowk and chepapul on Old purulia	East Singhbhum	Regular	180	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
326	Toad Within 4 kms from HATA chowk Towards Tiring	East Singhbhum	Regular	220	OBC	СС	35	45	1575	25	10	Bidding	30	4
327	Within 1.5 kms from HATA chowk Towards	East Singhbhum	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
328	Chaibasa on either side Within 2 Kms from Kalimandir(D.B Road) towards Harharguttu on jagdishpur road	East Singhbhum		200	Open	сс	20	20	400	25	10	Bidding	30	5
329	Within 3 kms from Galudih Chowk towards	East Singhbhum	Regular	230	OBC	сс	35	45	1575	25	10	Bidding	30	4
330	Jamshedpur on RHS on NH 33 Within 5 kms from Jayramdih ground towards	East Singhbhum	Regular	231	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
331	Dhalbhumgarh on LHS on NH 33 Between Phuldungri Chowk and Kashida Chowk on	East Singhbhum	Regular	180	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	RHS on NH 33 Within 3 kms from Galudih Chowk towards			230			35						15	5
332	Jamshedour on LHS on NH 33 Within 3 Kms from Kerukocha chowk towards	East Singhbhum	Regular		Open	DC		45	1575	25	75	Draw of Lots		
333	Bahragora on LHS on NH 33 Within 3 kms from Belajudi Kali mandir towards	East Singhbhum	Regular	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
334	Bahragora on LHS on NH 33	East Singhbhum	Regular	230	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
335	Within 2 kms from Anna Chowk(Tata Motors) towards Tata motors south gate	East Singhbhum	Regular	160	Open	cc	20	20	400	25	10	Bidding	30	5
336	Within 2 kms from State bank of India chakulia towards Forest office on chakulia- matihana road	East Singhbhum	Regular	160	Open	DC	20	20	400	25	45	Draw of Lots	15	5
				<b>!</b>		<b>!</b>					<b>!</b>	<u> </u>		l .

		<u> </u>	1		l	1						ı		
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dime	nsion (in M.)/Are	a of the site (in	Finance to be a applicant	rranged by the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	Sq. m.).	8		9a	9b	10	11	12
337	Within 4 Kms from Bahragora chowk towards Dhalbhumgarh on LHS on NH 33	East Singhbhum	Regular	160	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
338	Within 3 kms from Kokpara Bus Station towards Bahragora on LHS on NH 33	East Singhbhum	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
339	Within 3 kms from Ghatsila Railway station towards Ghatsila Jail on main road	East Singhbhum	Regular	200	Open	DC	20	20	400	25	45	Draw of Lots	15	5
340	Within 2 kms from Ghatsila railway station towards	East Singhbhum	Regular	160	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
341	Moubhandar on main road on RHS Within 1 Km from Marin drive towards Swarna	East Singhbhum	Regular	180	Open	сс	20	20	400	25	10	Bidding	30	5
342	Vihar to kalgalnagar road Within 5 Kms from Dimna chowk towards	East Singhbhum		320		СС	35	45	1575	25	10	Bidding	30	-
	Bahragora on RHS on NH 33 Within 3 kms from Kesharda highschool towards		Regular		Open									2
343	Jamshedour on RHS on NH 33 Within 3 kms from Kesharda highschool towards	East Singhbhum	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
344	Bahragora on RHS on NH 33	East Singhbhum	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
345	Within 2 Kms from Phuldungri chowk towards Ghatsila college road	East Singhbhum	Regular	160	Open	CC	20	20	400	25	10	Bidding	30	5
346	Between ATBCL Bridge and XLRI Hostel on Marine Drive	East Singhbhum	Regular	240	Open	сс	20	20	400	25	10	Bidding	30	5
347	Within 3 Kms from Kerukocha chowk towards Dhalbhumgarh on LHS on NH 33	East Singhbhum	Regular	160	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
348	Within 3 kms from Kesharda highschool towards Bahragora on LHS on NH 33	East Singhbhum	Regular	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
349	Between SAKCHI Chowk and AGRICO Chowk on Straight Mile Road	East Singhbhum	Regular	230	Open	сс	20	20	400	25	10	Bidding	30	5
350	Within 3 kms from Belajudi Kali mandir towards	East Singhbhum	Regular	230	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
351	Jamshedour on RHS on NH 33 Within 3 kms from Kesharda highschool towards	East Singhbhum	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
352	Jamshedour on LHS on NH 33 Within 3 Kms from Kerukocha chowk towards	East Singhbhum	Regular	160	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
	Bahragora on RHS on NH 33 Within 3 kms from Kashida chowk towards	_								25			15	-
353	Dhalbhumgarh on LHS on NH 33 Within 4 Kms from Bahragora chowk towards	East Singhbhum	Regular	156	Open	DC	35	45	1575	25	75	Draw of Lots	15	2
354	Dhalbhumgarh on RHS on NH 33 Within 3 kms from Kokpara Bus Station towards	East Singhbhum	Regular	160	Open	CC	35	45	1575	25	10	Bidding		5
355	Bahragora on RHS on NH 33	East Singhbhum	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
356	Within 3 Kms from Galudih Chowk towards Bahragora on LHS on NH 33	East Singhbhum	Regular	230	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
357	Within 3 kms from karandih chowk towards Parsudih main road	East Singhbhum	Regular	160	Open	DC	20	20	400	25	45	Draw of Lots	15	5
358	Within 2 kms from State bank of India, Baridih towards Mercy hospital. Jamshedpur	East Singhbhum	Regular	190	Open	сс	20	20	400	25	10	Bidding	30	5
359	Within 3 kms from Dhalbhumgarh Chowk towards Bahragora on RHS on NH 33	East Singhbhum	Regular	176	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
360	Between Central Bank of India and Bank of India in	East Singhbhum	Regular	150	Open	DC	20	20	400	25	45	Draw of Lots	15	5
361	Bahragora market Within3 Kms from Kerukocha chowk towards	East Singhbhum	Regular	160	ST CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
362	Dhalbhumgarh on RHS on NH 33 Within 3 kms from Dhalbhumgarh Chowk towards	East Singhbhum	Regular	251	Open CC 2	DC	35	45	1575	25	75	Draw of Lots	15	5
	Jamshedour on LHS on NH 33 Within 3 Kms from Phuldungri Chowk towards			180	OBC CC 1	DC	35	45	1575		75		15	4
363	Jamshedpur on LHS on NH 33 Within 5 Kms from Dimna chowk towards	East Singhbhum	Regular							25		Draw of Lots		4
364	Bahragora on LHS on NH 33 Within 3 kms from West bengal border towards	East Singhbhum	Regular	230	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
365	bahragora on RHS on NH 6	East Singhbhum	Regular	160	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
366	Within 2 Kms from Circuit house Golchakkar towards Sonari Airport	East Singhbhum	Regular	200	OBC	СС	20	20	400	25	10	Bidding	30	4
367	Within 3 Kms from Galudih Chowk towards Bahragora on RHS on NH 33	East Singhbhum	Regular	230	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
368	Between Phuldungri Chowk and Kashida Chowk on LHS on NH 33	East Singhbhum	Regular	210	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
369	Within 3 kms from mango chowk towards dimna chowk on LHS	East Singhbhum	Regular	180	ОВС	сс	20	20	400	25	10	Bidding	30	4
370	Within 3 kms from Belajudi Kali mandir towards	East Singhbhum	Regular	230	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
371	Bahragora on RHS on NH 33 Within 3 kms from Dhalbhumgarh chowk towards	East Singhbhum	Regular	251	Open	сс	35	45	1575	25	10	Bidding	30	5
372	Jamshedour on RHS on NH 33 Within 3 kms from Dhalbhumgarh Chowk towards	East Singhbhum	Regular	176	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
373	Bahragora on LHS on NH 33 Within 2 kms from karandih chowk towards	East Singhbhum		150	ОВС		20	20	400	25	45	Draw of Lots	15	4
	Ghaghidih iail Within 2 kms from Mango Chowk towards Jawahar													-
374	Nagar on New Purulia Road Within 2 Kms from Agrico Chowk towards Baridih	East Singhbhum	Regular	200	ST	CFS	20	20	400	0	0	Draw of Lots		3
375	on straight mile road	East Singhbhum	Regular	230	Open	СС	20	20	400	25	10	Bidding		5
376	Within 2 Kms from Bhatia park towards Ranikudar on Outer circle road	East Singhbhum	Regular	230	Open CC 1	СС	20	20	400	25	10	Bidding	30	5
377	Within 1 Km from Kagalnagar Park towards Domuhani on Rivers meet road	East Singhbhum	Regular	180	OBC	СС	20	20	400	25	10	Bidding	30	4
378	Within 3 kms from West bengal border towards bahragora on LHS on NH 6	East Singhbhum	Regular	164	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
379	Within 2 kms from Mango Bus stand towards bhuivadih main road	East Singhbhum	Regular	230	Open	сс	20	20	400	25	10	Bidding	30	5
380	Within 2 kms from Dimna main road mango towards workers' college on workers' college road	East Singhbhum	Regular	160	Open	сс	20	20	400	25	10	Bidding	30	5
381	Within 3 kms from Kashida chowk towards	Fact Singhhhum	Pegular	156	OBC	DC	35	45	1575	25	75	Draw of Lot-	15	4
	Dhalbhumgarh on RHS on NH 33 Within 3 kms from railway station chowk towards	East Singhbhum	Regular									Draw of Lots		-
382	Baghbera thana via D. B. road Within 3 kms from Dimna chowk towards Pardih on	East Singhbhum	Regular	160	Open	CC	20	20	400	25	10	Bidding	30	5
383	RHS Within 3 kms from Belajudi Kali mandir towards	East Singhbhum	Regular	236	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
384	Jamshedour on LHS on NH 33	East Singhbhum	Regular	230	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
385	WITHIN 5 KMS FROM PANDRA SHALI CHOWK TOWARDS SARAIKELA	SARAIKELA KHARASAWAN	Regular	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
386	WITHIN 3 KMS FROM BANSA CHOWK TOWARDS CHOWKA CHOWK	SARAIKELA KHARASAWAN	Regular	134	Open	DC	20	20	400	25	45	Draw of Lots	15	5
387	BETWEEN KM STONE 144 TO 147 ON NH-32 WITHIN 4 KM FROM URMAL TO KALIMANDIR ON	SARAIKELA KHARASAWAN	Regular	180	SC PH	CFS	35	45	1575	0	0	Draw of Lots	0	3
388	NH-33 ON LHS	SARAIKELA KHARASAWAN	Regular	180	OBC PH	DC	35	45	1575	25	75	Draw of Lots	15	4
389	WITHIN 5KM OF JHINKPANI THANA TOWARDS CHAIBASA ON NH 75 E	WEST SINGHBHUM	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
390	BETWEEN KM STONE 175 TO 178 FROM HATGAMHARIA TO JAINTGARH ON LHS	WEST SINGHBHUM	Regular	180	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
391	WITHIN 10KM FROM HATGAMHARIA TOWARDS TONTOPOSI	WEST SINGHBHUM	Regular	114	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
392	WITHIN KM STONE NO 102 TO 113 ON NH 75E FROM S-TYPE MORE ADITYAPUR TO RANTEC ITI	WEST SINGHBHUM	Regular	180	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
393	MORE ADITYAPUR	SARAIKELA KHARASAWAN	Regular	180	Open	CC	20	20	400	25	10	Bidding	30	5

	Г		l		l		l					1		
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dime	nsion (in M.)/Are	a of the site (in	Finance to be a	rranged by the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	Sq. m.).	8		9a	9b	10	11	12
394	WITHIN 3 KMS FROM SARAIKELA CHOWK TOWARDS PANDRA SHALI	SARAIKELA KHARASAWAN	Regular	120	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
395	WITHIN 5KM FROM DUGINI CHOWK TOWARDS	SARAIKELA KHARASAWAN	Regular	120	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
396	SINNI MORE WITHIN KM STONE NO 120 TO 130 ON NH-75E	WEST SINGHBHUM	Regular	174	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
397	WITHIN 2 KM FROM USHA MORE,GAMHARIA	SARAIKELA KHARASAWAN	Regular	120	Open	DC	20	20	400	25	45	Draw of Lots	15	5
	TOWARDS JMT AUTO WITHIN 3 KM FROM NIMDIH THANA TOWARDS		-		· ·	DC	35		1575	25	75		15	-
398	ADARDIH ON NH-32 Within 3 Km from HDFC Bank, Saraikela towards	SARAIKELA KHARASAWAN	Regular	200	Open			45				Draw of Lots		5
399	Tata on SH-5	SARAIKELA KHARASAWAN	Regular	120	Open	CC	35	35	1225	25	10	Bidding	30	5
400	WITHIN 5KM FROM KOLABIRA CHOWK TOWARDS GOPIDIH	SARAIKELA KHARASAWAN	Regular	124	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
401	WITHIN 5KM FROM MUDIYA CHOWK TOWARDS DUGINI	Saraikela Kharasawan	Regular	120	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
402	WITHIN 5KM FROM GOPIDIH CHOWK TOWARDS KANDRA	SARAIKELA KHARASAWAN	Regular	120	Open CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
403	WITHIN 5 KMS FROM JAGANNATHPUR CHOWK	WEST SINGHBHUM	Regular	120	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
	TOWARDS HATGAMHARIA ON RHS ON SH 04 WITHIN 3 KMS FROM HOTEL WAVE													
404	INTERNATIONAL ASANBONI TOWARDS JAMSHEDPUR LHS	SARAIKELA KHARASAWAN	Regular	230	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
405	WITHIN KM STONE 170 TO 175 ON NH-75E WITHIN 3 KMS FROM HOTEL WAVE	WEST SINGHBHUM	Regular	180	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
406	INTERNATIONAL ASANBONI TOWARDS	SARAIKELA KHARASAWAN	Regular	230	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	JAMSHEDPUR RHS WITHIN 4 KMS FROM STATE BANK OF INDIA,													
407	HATGAMAHRIA TOWARDS JAGANNATHPUR ON LHS ON SH 04	WEST SINGHBHUM	Regular	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
408	WITHIN 5 KMS FROM SILVER SAND RESORT KANDERBERA TOWARDS JAMSHEDPUR ON LHS	SARAIKELA KHARASAWAN	Regular	180	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
409	WITHIN 5 KMS FROM SILVER SAND RESORT	SARAIKELA KHARASAWAN	Regular	180	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
410	KANDERBERA TOWARDS CHOUKA ON RHS WITHIN KM STONE NO 160 TO 165 ON NH-75E	WEST SINGHBHUM	Regular	180	ST CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
411	WITHIN 5 KMS FROM JAGANNATHPUR CHOWK TOWARDS HATGAMHARIA ON LHS ON SH 04	WEST SINGHBHUM	Regular	120	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
412	WITHIN 3 KMS FROM HOTEL RIVER VIEW,	SARAIKELA KHARASAWAN	Regular	180	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
413	GHORALING TOWARDS CHOWKA ON RHS WITHIN 5KM FROM MUDIYA CHOWK TOWARDS	SARAIKELA KHARASAWAN	Regular	120	Open PH	DC	35	35	1225	25	60	Draw of Lots	15	5
414	KOLABIRA WITHIN KM STONE NO 165 TO 170 ON NH-75E	WEST SINGHBHUM	Regular	190	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
415	WITHIN 3 KMS FROM AQUA PARK NOAMUNDI TOWARDS NOAMUNDI- JAGANNATH ROAD ON	WEST SINGHBHUM	Regular	110	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
413	FITHER SIDE	WEST SINGIBITOW	Negulai	110	OBC	БС	20	20	400	23	*3	Draw or Lots	13	Ĭ
416	Within 3 kms from DC office more, saraikela towards Saraikela court on LHS	SARAIKELA KHARASAWAN	Regular	180	Open	cc	35	35	1225	25	10	Bidding	30	5
417	Within 5 kms from Thalko towards Saraikela on Saraikela- Chaibasa Road	SARAIKELA KHARASAWAN	Regular	124	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
418	WITHIN 4 KMS FROM STATE BANK OF INDIA,	WEST SINGHBHUM	Regular	114	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
	RHS ON SH 04													
419	Within Municipal limit of Chakradharpur Outside municipal limit within 2 kms towards	WEST SINGHBHUM WEST SINGHBHUM	Regular	160 150	Open	CC DC	35	20 45	400 1575	25 25	75	Bidding Draw of Lots	30 15	5
	karaikela on NH-75E Between km Stone 60 to 67 on NH 100 towards		Regular		Open									
421	Simaria Between Km stone 67 to 73 on NH100 towards	HAZARIBAGH	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
422	Simaria	HAZARIBAGH	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
423	Between Km stone 43 to 47 towards Ranchi on NH33 ON L.H.S	HAZARIBAGH	Regular	230	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
424	Between Km stone 43 to 47 towards Ranchi on NH33 ON R.H.S	HAZARIBAGH	Regular	230	Open	сс	35	45	1575	25	10	Bidding	30	5
425	Between Devchanda more and Barhi Chowk on NH 33 on L.H.S.	HAZARIBAGH	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
426	Between Tanti Jharia P.S and Utkarmit Madhya	HAZARIBAGH	Regular	150	ОВС	сс	35	45	1575	25	10	Bidding	30	4
427	Vidalava Holang on NH100 Within KM Stone 43 to 46 on NH99 towards Chatra	CHATRA	Regular	180	ST	CFS	35	45	1575	0	n	Draw of Lots	0	2
	Within 5 km from Simaria chowk towards Hazaribag				-								45	-
428	on NH 100 Between km stone 47 to 51 towards Ranchi on	CHATRA	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
429	R.H.S. on NH33	HAZARIBAGH	Regular	230	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
430	Between Km Stone 47 to 51 on L.H.S. towards Ranchi on NH33	HAZARIBAGH	Regular	180	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
431	Within 4 km from Urwan more on NH31 towrads Barhi	KODERMA	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
432	Within 4 km from Barhi Chowk towards Koderma	KODERMA	Regular	160	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
433	Within 7 km from Barhi chowk towards Hazaribag	HAZARIBAGH	Regular	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
434	on NH 33 on R.H.S. Between km Stone 1071 to 1076 on L.H.S. from	HAZARIBAGH	Regular	255	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
435	Delhi to Kolkata on NH2 Between Silwar Thana and Jhumra State Bank of	HAZARIBAGH	Regular	200	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
436	India on NH 100 Daru on NH-100	HAZARIBAGH	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
437	Within Muncipal limit from Police control room,	HAZARIBAGH	Regular	230	OBC	CC	20	20	400	25	10	Bidding	30	4
438	Hazaribag to Angles High School Within 2 km from Barkagaon Chowk towards	HAZARIBAGH	Regular	180	Open	DC	20	20	400	25	45	Draw of Lots	15	5
439	Badam Within 1 km from Dhengura more on Hazaribag -	HAZARIBAGH		180		DC	35	35	1225	25	60		15	5
	Barkagaon Road Within 2 km Murwe yatri Shed towards Tandwa on		Regular		Open							Draw of Lots		
440	Simaria -Tandwa Road Between Km Stone 1110 to 1118 on NH2 on LHS	CHATRA	Regular	210	OBC	CC	20	20	400	25	10	Bidding	30	4
441	towards Kolkata	HAZARIBAGH	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
442	Within 3 km from Holang High School towards Bisungarh	HAZARIBAGH	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
443	Within 2 km from Surya Mandir , Tandwa towards Barkagaon	CHATRA	Regular	160	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
444		CHATRA	Regular	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
445	Betwwen Km Stone 24 to 29 on NH99 towards Zori	CHATRA	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
446	Between Simaria Chowk to Bagra Chowk	CHATRA	Regular	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
447	Between Km stone 73 to 81 on NH100 towards Simaria	CHATRA	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
448	Within 2 km from Simaria Chowk towards Tandwa	CHATRA	Regular	160	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
449	Betwen KM Stone 1080 to 1084 on L.H.S. from Delhi	HAZARIBAGH	Regular	246	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
450	to Kolkata on NH2 Within 2 km from Bariyardih Chowk on SH 13	KODERMA	Regular	130	SC	CFS		35	1225	0	0	Draw of Lots	0	3
			_									***		

				Estimated		1				1		1	Fixed Fee /	
SI. No	Name of location	Revenue District	Type of RO	monthly Sales Potential #	Category	Type of Site*	Minimum Dime Sq. M.). *	nsion (in M.)/Are	a of the site (in	Finance to be a applicant	rranged by the	Mode of Selection	Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	,	8		9a	9b	10	11	12
451	Within 2 km from Nawada Chowk towards Nawalsahi on SH 13	KODERMA	Regular	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
452	Within 3 km from Koderma Chowk (Bajarang Chowk ) towards Domchanch	KODERMA	Regular	170	Open CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
453	Within 2 km from Gendwadih (Dhodakola more ) towards Koderma	KODERMA	Regular	200	Open	сс	35	35	1225	25	10	Bidding	30	5
454	Between Domchanch P.S. and Gendwadih (Dhodokola More)	KODERMA	Regular	200	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
455	Within 2 km from Nawalsahi Chowk towards	KODERMA	Regular	150	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
456	Domchanch Within 2 km from C.H. Inter school , Jhumri Tilaiya	KODERMA	Regular	180	Open	сс	20	20	400	25	10	Bidding	30	5
457	towrads Jainagar Within 3 km from Ursu More towards Simaria	Chatra		170	Open	DC	20	20	400	25	45	Draw of Lots	15	5
458	Within KM stone 1088 to 1096 on RHS from Delhi	HAZARIBAGH		186	ST	CFS	35	45	1575	0	0	Draw of Lots	0	2
	to Kolkata on NH2 Within 4 km from Chandwara P.S. towards Jhumri											Draw of Lots	4.5	
459	Tilaiva Within 3 Km from Indarpuri chowk towards	KODERMA	Regular	220	OBC	DC	35	45	1575	25	75		15	4
460	Chatra	HAZARIBAGH	Regular	160	Open	cc	20	20	400	25	10	Bidding	30	5
461	Within 3 km from Jhanda Chowk towards Simaria	HAZARIBAGH	Regular	205	Open CC 2	CC	20	20	400	25	10	Bidding	30	5
462	Within Muncipal Limit From District more towards Bisungarh	HAZARIBAGH	Regular	200	OBC CC 1	DC	20	20	400	25	45	Draw of Lots	15	4
463	From Konar Pul towards Barhi (Within Municipal Limit)	HAZARIBAGH	Regular	200	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
464	From Konar Pul towards Ranchi (Within Municipal Limit) on RHS	HAZARIBAGH	Regular	200	Open	сс	20	20	400	25	10	Bidding	30	5
465	From Konar Pul towards Ranchi (Within Municipal Limit) on LHS	HAZARIBAGH	Regular	200	Open	сс	20	20	400	25	10	Bidding	30	5
466	Within 2 km from Rajkiyakrit Utkarmit Madhay Vidalay, Mandar towards Bahera	CHATRA	Regular	150	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
467	Between Km stone 1112 to 1118 on R.H.S. From	HAZARIBAGH	Regular	210	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
468	from Kolkata to Delhi on NH2 Within 2 km from Dhangadda Chowk towards	CHATRA		150	Open	DC	20	20	400	25	45	Draw of Lots	15	5
469	Tandwa Between Simra Rest House chowk and NH 33	HAZARIBAGH	Regular	160	Open	DC	20	20	400	25	45	Draw of Lots	15	5
470	Within 6 km from Koderma Chowk (Bajarang Chowk) towards Patna	KODERMA		160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
471	Within 5 km from Bisungarh Towards Bagodar on NH100	HAZARIBAGH	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
472	Between KM Stone 1080 to 1084 on R.H.S. from	HAZARIBAGH		220	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
473	Delhi to Kolkata on NH2 Between Junction of NH33 and NH100 on L.H.S	HAZARIBAGH	Regular	180	Open	DC	20	20	400	25	45	Draw of Lots	15	5
474	towards Barhi Between Junction of NH33 and NH100 on bypass	HAZARIBAGH	Regular	180	OBC	сс	20	20	400	25	10	Bidding	30	4
	road R.H.S towards Barhi Between NH100 and Canary Hill bypass road on					СС	20	20		25	10	_	30	-
475	L.H.S. towards Barhi Between NH100 and Canary Hill on bypass R.H.S.	HAZARIBAGH	Regular	180	Open CC 1			-	400			Bidding	30	3
476	towards Barhi Between Canary Hill and Nagwa on NH 33 L.H.S.	HAZARIBAGH		180	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
477	towards Barhi	HAZARIBAGH	Regular	180	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
478	Between Canary Hill and Nagwa on NH 33 R.H.S. towards Barhi	HAZARIBAGH	Regular	180	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
479		CHATRA	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
480	Between Km stone 59 to 63 towards Bagra on NH99	CHATRA	Regular	160	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
481	Beetween Km stone 50 to 56 towards Bagra on NH99	CHATRA	Regular	160	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
482	Beetween Km stone 1049 to 1057 on LHS towards Kolkata on NH2	HAZARIBAGH	Regular	180	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
483	Beetween Km stone 1050 to 1057 on RHS towards	HAZARIBAGH	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
484	Kolkata on NH2 Between km Stone 1071 to 1076 on R.H.S. from	HAZARIBAGH	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
485	Delhi to Kolkata on NH2 Within 2 km from Rajkiya Utkarmit Madhya	CHATRA	-	170	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
486	Vidalava Kishunpur towards Simaria Within 2 km from Utkarmit Madhya Vidalay	CHATRA		150	Open	DC	20	20	400	25	45	Draw of Lots	15	5
-	,Khadaiya towards Tandwa Within 2 km from Priyojana Unch Vidalay Mishrol				_							_		-
407	towards Serendag Within 2 km from Utkarmit Madhya Vidalay	CHATRA		170	Open	DC	20	20	400	25	45	Draw of Lots	15	5
488	Navatnd towards Urimari Within 2 km from Utkarmit Madhya Vidalay	HAZARIBAGH		170	OBC PH	DC	20	20	400	25	45	Draw of Lots	15	4
489	Nayatnd towards Barkagaon	HAZARIBAGH	Regular	150	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	3
490	Between Kilometer Stone No.1057 and 1061 on RHS from Delhi towards Kolkata on NH-2	HAZARIBAGH	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
491	Within 6 KM from Ghatomore of Charhi towards Hazaribag on LHS on NH-33	HAZARIBAGH	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
492	Between Kilometer Stone No.1064 and 1068 on LHS from Delhi towards Kolkata on NH-2	HAZARIBAGH	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
493	Between Korra chowk and NH 33 via Pramandal	HAZARIBAGH	Regular	150	Open	сс	20	20	400	25	10	Bidding	30	5
	Satriya Panchayat Parsichan Sansthan, Hazaribag Within 6 km from Itkhori more ((Jihu Chowk)											_		
494	towards Barhi on RHS	HAZARIBAGH	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
495	Within 6 km from Itkhori more (Jihu Chowk) towards Barhi on LHS	HAZARIBAGH	_	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
496 497	Bachhra on SH 7 Between Km stone 108 to 113 on NH100 towards	CHATRA CHATRA		160 150	OBC	DC DC	35 35	35 45	1225 1575	25 25	60 75	Draw of Lots Draw of Lots	15 15	5
	Chatra Within 6 km from Simaria Chowk towards Chatra				Open								123	2
498 499	on NH 100 Within 2 km from BOI Khapriyawan on SH7	CHATRA HAZARIBAGH	_	156 120	SC OBC	CFS DC	35 35	45 35	1575 1225	0 25	0 60	Draw of Lots Draw of Lots	15	3
500	Within 4 Km from Barkagaon Chowk towards	HAZARIBAGH	Regular Regular	120	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
501	Hazaribag Within Muncipal Limit in Chatra Town	CHATRA	Regular	160	Open CC 1	СС	20	20	400	25	10	Bidding	30	5
502	Within 4 km from Maharana Pratap Chowk( Jhumri Tilaiva) on NH31	KODERMA	Regular	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
503	Within 4 km from Chandwara P.S. Towards Barhi	KODERMA	Regular	160	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
504	Between Nagwan and Salparni on NH33	HAZARIBAGH		150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
505	Within 1 km from 23/11 KV Viduth Upkendra Tandwa Chatra, Jharkhand Bijli Vitrana Nigam	CHATRA	Regular	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
	Limited towards Tandwa Within 4 Km from Barkagaon Chowk towards												45	<u> </u>
506	Tandwa Ramgarh Hasdiah Road, Block Ramgarh	HAZARIBAGH DUMKA	_	120 100	OBC ST	DC CFS	35 35	35 35	1225	25 0	60	Draw of Lots Draw of Lots	15	4
508	Either Side of Kundhit Rajnagar Road, Block Kundhit	Jamtara		100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
	,	l		·		·	1	·		·	l		1	l

ſ				Estimated	ı	1	I					1		
SI. No	Name of location	Revenue District	Type of RO	monthly Sales Potential #	Category	Type of Site*	Minimum Dime Sq. M.). *	nsion (in M.)/Are	a of the site (in	Finance to be a applicant	rranged by the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	,	8		9a	9b	10	11	12
509	Within 3.0KM from Bengabad Bazaar towards Madhupur on Bengabad- Madhupur Road	Giridih	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
510	Within 3 Kms from Kundhit Thana, Block Kundhiit	Jamtara	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
511	Between Pakuria To Bannogram, Block Pakuria	pakur	Regular	100	OBC CC 1	DC	35	35	1225	25	45	Draw of Lots	15	4
512	From 3.0KM from Shisodhiya Fuel (HPC) on Isri -	Giridih	Regular	100	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
513	Asuraband Road  Between Bhirkhibad To Satsang Gate on MDR 235,	Deoghar	Regular	100	Open PH	DC	35	35	1225	25	45	Draw of Lots	15	5
514	Block Deviour Within 1 Kms from Shankarpur Chowk Towards	Deoghar	Regular	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
	Devipur on Satsang Bhirkibad Road Between Govindpur Chowk and Kauwabandh on	_												5
515	LHS towards Delhi on NH-2 Between Ramgarh More To Ramgarh Thana, Block	Dhanbad	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	5
516	Ramgarh	Dumka	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
517	Between Randheer Verma Chowk and Steel Gate on either side on NH-32 within Municipal Limit	Dhanbad	Regular	150	Open	сс	20	20	400	25	10	Bidding	30	5
518	Between City centre and Randheer Verma Chowk within Municipal Limit	Dhanbad	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
519	Within 5 Km of Shankardih towards Fakirdih Chowk on Govindpur-Sahebgani Road (SH-14)	Dhanbad	Regular	100	Open	сс	35	35	1225	25	10	Bidding	30	5
520	Within 05 Km from Sanjay Chowk and West Bengal Border towards Kolkata on LHS on NH-2	Dhanbad	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
521	From 5.0KM Satgawa Chowk on Koderma- Satgawa	Giridih	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
522	Road  Between Steel Gate and Big Bazar on either side	Dhanbad	Regular	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
	within Municipal Limit Within 3km from Karkend to Putki on RHS on NH-32	Dhanbad				DC	35	45	1575		75		15	5
523		Dirailbau	Regular	150	Open	DC	22	7.7	13/3	25	/3	Draw of Lots	13	,
524	Within 3.0KM from SBI ATM at Kadmotal towards Bengabad on Madhupur - Giridih Road Road  Between Palaieri To Sprath Police Station on	GIRIDIH	Regular	100		DC	35	35	1225	25	60	Draw of Lots	15	5
525	Between Palajori To Sarath Police Station on Palaiori Sarath Road, Block Palaiori	Deoghar	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
526	Between Mahuda Bazar and Mahuda More on LHS towards Mahuda More on NH-32	Dhanbad	Regular	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
527	Within 4.0KM From Jamua Block Office on Jamua Koderma Road	GIRIDIH	Regular	100	Open	сс	35	35	1225	25	10	Bidding	30	5
528	Within 2.0KM from Saria Railway crossing towards Saria- Bagodar Road	GIRIDIH	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
529	Within 3.0KM from Gandey Chowk towards Giridih	GIRIDIH	Regular	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
530	on Gandev-Giridih Road Within 5.0KM from Railway crossing towards Birni	GIRIDIH	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
531	on Saria- Rajdhanwar Road Within 4.0KM from Rajdhanwar Power house on	GIRIDIH	Regular	100	Open	СС	35	35	1225	25	10	Bidding	30	5
	Raidhanwar - Saria Road Within 2 kms from Telmucho towards Mahuda on													-
532	RHS on NH-32 Within 2 KM from Sidhukanu More towards	Dhanbad	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	
533	Mahagam on LHS of NH 80	GODDA	Regular	150	OBC SC	DC	35 35	45 35	1575	0	75 0	Draw of Lots	15	4
534 535	Masaliya  Between Mahuda More and Mahuda Bazar on LHS	Dumka Dhanbad	Regular Regular	150	Open	CFS DC	35	45	1225 1575	25	75	Draw of Lots Draw of Lots	15	5
536	towards Putki on NH-32 Between 6 KM and 10 KM from ITI more (Chas)	Bokaro	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
537	towards Purulia on NH 32 5Km from Mahuda Bazar towards Putki on RHS on	Dhanbad		150	OBC	DC	35	45	1575	25	75		15	4
537	NH-32 Bokaro Township area (sector XI)	Dhanbad Bokaro	Regular Regular	100	ST	CFS	35	35	1225	0	75	Draw of Lots Draw of Lots	0	3
539	Giridih Town (within Municipal Area)	Giridih	Regular	100	Open	СС	35	35	1225	25	10	Bidding	30	5
540	Either Side of Belkupi Jama Road, Block Jama Within 3km from Bagodar More towards	dumka	Regular	100	OBC	DC	35	35 4E	1225	25	45	Draw of Lots	15	4
541	Hazaribagh on NH 100 Within 4.0KM from Bagodar Chowk towards	Giridih	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	_
542	Atkadih on RHS Kolkata-Delhi NH2	Giridih	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
543	Either Side of Goddda Panjwara Road, Block  Meherma	godda	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
544	Between Bewa to Rahmatpur, Block Barharwa From 5.0KM Bank Of India at Udayapur on LHS on	SAHIBGANJ	Regular	100 150	OBC	DC DC	35	35 45	1225	25	45 75	Draw of Lots	15	5
545	Delh- Kolkata NH 2	Dhanbad	Regular	130	Open	DC	35	45	1575	25	75	Draw of Lots	13	,
546	Within 3.0KM from Punjab National Bank Chirki Branch towards Isri on Giridih- Isri Road	Giridih	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
547	Radhanagar, Block udhwa	SAHIBGANJ	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
548	Either Side of Shivgadi Temple Road, Block Barhait	SAHIBGANJ	Regular	100	ОВС	DC	35	35	1225	25	45	Draw of Lots	15	4
549	Within 3.0KM from TATA MOTORS at Dumri towards Delhi at LHS on Delhi -Kolkata NH 2 Road	Giridih	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
550	Either side of Basudih kundhit road, Block kundhit	Jamtara	Regular	100	Open CC 1	DC	35	35	1225	25	45	Draw of Lots	15	5
551	Either Side of Bindapathar Road, Block Fatehpur	Jamtara	Regular	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
552	Within 3 km from Naya More towards Ramgarh on	Bokaro	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
553	LHS on NH 23 Between Temple Hanuman Mandir at Mohinidih	GIRIDIH	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
554	and Kali Mandir at Prasbani Beyond 05 Km from Sanjay Chowk and West Bengal	Dhanbad	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
555	Border towards Kolkata on LHS on NH-2 Within 2km from Karkend Bazar towards Godhar on	Dhanbad		150		DC	20	20	400	25	75		15	4
	LHS on NH-32 within Municipal Limit  Between Thakur Gangti to Bhagaiya on Bhagaiya		Regular		OBC							Draw of Lots	13	
556	Main Road, Block Thakugangti	Godda	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
557	Within 3km from Bhuiphore towards Govindpur on RHS on NH-32 within Municipal Limit	Dhanbad	Regular	150	Open	сс	20	20	400	25	10	Bidding	30	5
558	Within 3.0KM from Union Bank Of India, Chapaudih Branch towards Madhupur on Giridih- Madhupur	Giridih	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
559	Within 4.0KM from BajranjBali Mandir on	Giridih	Regular	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
560	Jharkhand Dham - Raidhanwar Road  Between Harinchara More to Tinpahar on	SAHIBGANJ	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
561	Harinchara Tinpahar Road, Block Borio Within 5 km from Mangalhat on on RHS towards	SAHIBGANJ	Regular	150	ST CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
	Farakka on NH-80 Between Mugma More & Puja Nursing Home						<b>.</b>						15	-
562	towards Chirkunda	Dhanbad	Regular	100	Open CC 2	DC	35	35	1225	25	45	Draw of Lots	15	5

				Estimated	1		1			1		l	Fixed Fee /	
SI. No	Name of location	Revenue District	Type of RO	monthly Sales Potential #	Category	Type of Site*	Minimum Dime Sq. M.). *	nsion (in M.)/Are	a of the site (in	Finance to be a applicant	rranged by the	Mode of Selection	Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	,	8		9a	9b	10	11	12
563	Between Howrah Motors and Barmasia on either side	Dhanbad	Regular	100	OBC CC 1	DC	35	35	1225	25	45	Draw of Lots	15	4
564	Between Bankmore & Dhansar Chowk via Purana Baazar within Municioal Limit	Dhanbad	Regular	100	Open	cc	20	20	400	25	10	Bidding	30	5
565	Within 3.0KM from Barakar Bridge towards Givindpur on Giridih- Govindpur Road	Dhanbad	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
566	Withn 4KM from Maharajganj Bazaar towrds Tundi Bazaar on Tundi- Giridih Road	Giridih	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
567	Between Memko More and Rani Bandh(Dhaiya) on	Dhanbad	Regular	100	Open	СС	20	20	400	25	10	Bidding	30	5
	either side within Municipal Limit  Between 02 Km from Tetulia More and Nirsa Chowk													
568	towards Kolkata on LHS on NH-2	Dhanbad	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
569	Either Side of Raghunathpur Road, Block Raneshwar		Regular	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
570 571	Bokaro Township area (sector IV) Within 5 KM from Govindpur More towards Kolkata	Bokaro Dhanbad	Regular Regular	150	SC Open	CFS	35 35	35 45	1225 1575	25	10	Draw of Lots Bidding	30	5
572	on RHS on NH-2 Between Mirza Chowki Police Station to Bhagaiya	Godda	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
573	via Bindaban. Block Thakurgangti Between Borio To ECL More, Block Borio	SAHIBGANJ	Regular	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
574	Between jama more to barapalsi, block Jama	Dumka	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
575		Godda	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
576	Chandankvari Road. Block Jharia	Dhanbad	Regular	100	Open CC 1	DC	35	35	1225	25	45	Draw of Lots	15	5
577	Kalapathar,Chas  Between Jorasankh and beyond 1 Km from Kowar	Bokaro	Regular	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
578	Chowk on Kowar - Koderma Road, Block Pachamba	GIRIDIH	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
579	within 1 Km Telgaria More towards penergaria, Block Chas	Bokaro	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
580		Pakur	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
581		GIRIDIH	Regular	100	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
	Between Binod Bihari Chowk and Jharkhand More				0			25	1225				15	
582	on Hirak Road on either side, Block Bhuli	Dhanbad	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	כן
583	Between Sirasin to Udhwa, Block Barharwa	SAHIBGANJ	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
584	Within 1 Km from Naragi More Towards Chitra Mines on Naragi More to Chitra Mines Road	Deoghar	Regular	100	Open	cc	35	35	1225	25	10	Bidding	30	5
585	Either side of karon road, Block karmatar	Jamtara	Regular	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
586 587	Between Mahespur To Pakur Town Nala Town	Pakur Jamtara	Regular Regular	100	Open SC PH	DC CFS	35 35	35 35	1225 1225	25 0	45 0	Draw of Lots Draw of Lots	15 0	3
588	Between Govindpur Chowk and Kisan Chowk Barwadda on NH-2 , LHS towards Delhi	Dhanbad	Regular	150	OBC PH	DC	35	45	1575	25	75	Draw of Lots	15	4
589		Deoghar	Regular	100	Open	сс	35	35	1225	25	10	Bidding	30	5
590	Between Shakti Chowk and Kanko More on either side. Block Bhuli	Dhanbad	Regular	100	Open	сс	35	35	1225	25	10	Bidding	30	5
591	Islampur to Bindupara Road, Block Barharwa	SAHIBGANJ	Regular	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
592	Between Bank of India, Nimiaghat and Railway Bridge, Rangamati LHS towards Varanasi on NH-2	Giridih	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
593	Between Sunderpahari to Damruhat, Block	Godda	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
	Sunderpahari Within 4.0KM from Rajganj Chowk towards Delhi on										75			-
594 595	NH2 Barhait Barharwa Road, Block Barhait	Dhanbad SAHIBGANJ	Regular Regular	150	Open OBC	DC DC	35	45 35	1575 1225	25 25	45	Draw of Lots Draw of Lots	15 15	4
596	Between Karodih More to Pakuria Town, Block	Pakur	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
597	Pakuria Either Side of Lamatia Borio Road, Block Borio	SAHIBGANJ	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
598	Either Side of Asanbani Road, Block Raneshwar	Dumka	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
599	Within 2 Kms of Balidih More on LHS of Basukinatn-	Deoghar	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
600	Dumka Road,Block:Sona Rai Thari Raghunathpur Village, Block Poreyahat	Godda		100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
601	Boarijor	Godda	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
602	Between Gumani to Barharwa, Block Barharwa	SAHIBGANJ	Regular	100	Open CC 1	DC	35	35	1225	25	45	Draw of Lots	15	5
603 604	Between Barharwa to Barhait, Block Barharwa Basantroy	SAHIBGANJ Godda	Regular Regular	100 100	OBC Open	DC DC	35 35	35 35	1225 1225	25 25	45 45	Draw of Lots Draw of Lots	15 15	5
605	Rishore More to Dighi, Block Barharwa	SAHIBGANJ	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
606	Between Kahalgaon Road to Mahagama, Block Mahagama	Godda	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
607	Barharwa Pakur Road, Block Barharwa Within 2 Kms from Palasi Chowk on Either Side	SAHIBGANJ	Regular	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
608	Meherma Thakurgangti PWD Road, Block Thakugangti	GODDA	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
609	Within 5 Kms Rihkiya Hatia Chowk Towards  Mohanpur on Jasidih to Mohanpur Road	Deoghar	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
610		Deoghar	Regular	100	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
611	Within 1km of Jama Masjid Digwadih on Digwadih-	Dhanbad	Regular	100	OBC CC 1	DC	35	35	1225	25	45	Draw of Lots	15	4
612	Sindri Road* (MDR) Within 3 km from Khoodia Phatak towards Kolkata	Dhanbad	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
613	on LHS on NH-2 With 3 km for Govindpur More towards Kauwabadh	Dhanbad	Regular	150	Open PH	DC	35	45	1575	25	75	Draw of Lots	15	5
614	on RHS on NH-2 Between Dighi to Udhwa, Block Udhwa	SAHIBGANJ	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
615	Within 5 kms of Lalmatia More towards Pirnainty	Godda	Regular	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
616	Between Nirsa Chowk and Mugama More towards	Dhanbad	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	5
617	Kolkata on RHS on NH-2 Between TATA central Hospital and Bhowra Post	Dhaabad		100		D.C.	25	25	1225	25	45		15	
617	Office on Jamadoba-Bhowra Road, Block Jharia	Dhanbad	Regular	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
618	Within SKM from Hanuman Mandir towards Bagodar Saria Raod	Giridih	Regular	100	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
619	From Steel Gate towards Koylanagar on either side within Municipal Limit	Dhanbad	Regular	100	Open	сс	20	20	400	25	10	Bidding	30	5
620	Between Deviana More & B.Ed	Dhanbad	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	Retween Moraidib chowk and Nabru Chowk on													$\vdash$
621	Hirak Road	Dhanbad	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5

	T		l	1	1	1	1					1		
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dime	nsion (in M.)/Are	a of the site (in	Finance to be a	arranged by the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	5q. m.).	8		9a	9b	10	11	12
622	Within 3 km from Govindpur Chowk towards Kolkata on RHS on NH-2	Dhanbad	Regular	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
623	Between Patharchapti to Margo Munda, Block Margo Munda	Deoghar	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
624	Within 5km from Muraidih chowk towards Behrakudar on Hirak Road	Dhanbad	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
625	Within 3km from Govindpur Chowk on NH-2	Dhanbad	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
626	towards Bhuiphore on RHS on NH-32 Mugma More towards Mugma Railway Station	Dhanbad	Regular	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
	Between Dumri Police Station and Hanuman													
627	Temple at Isri Bazaar on Dumri -Isri Old NH2 Road	Giridih	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
628	From Dhansar chowk to Jai Prakash Narayan Chowk	Dhanbad	Regular	100	Open	сс	20	20	400	25	10	Bidding	30	5
	on LHS on SH-12 within Municipal Limit Within 4km from Fafuadih towards Ratanpur													
629	towards Delhi on LHS on NH-2	Dhanbad	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
630	Between Dhansar Chowk and Katras More towards Jharia on RHS on SH-12 within Municipal Limit	Dhanbad	Regular	100	Open	сс	20	20	400	25	10	Bidding	30	5
631	Between Govindpur Chowk and Fakirdih Chowk on	Dhanbad	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
632	LHS towards Kolkata on NH-2 Either side of kalipathar Road, Block Nala	Jamtara	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
633	Within 2.0KM from NetaJI Chowk towards Jamua on RHS on Khorimahua- Jamua Road	Giridih	Regular	100	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
634	Within 4.0KM Topchanchi Chowk towards Nimiaghat On LHS side on Kolkata- Delhi Road	Dhanbad	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	(NH2)  Between Margomunda and Bharatpur on Giridih-													
635	Gandev- Jamatara Road	Giridih	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
636	Within 3.0KM from Pirtand towards Madhuban on Giridih - Maduban	Giridih	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
637	Within 3.0KM from Pachmba Post Office towards Pachmba on Giridih- Pachamba Road on RHS	Giridih	Regular	100	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
638	Within 4.0KM from Ghandhi Chowk towards	Giridih	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	5
	Madhuban on Giridih-Madhuban Road Within 3 KMs from Tenughat, on Peterwar - Gomia													5
639	road.  Between DVC colony,Chandrapura and Turio on	Bokaro	Regular	110	Open	DC	35	35	1225	25	45	Draw of Lots	15	
640	Dughda-Phusro Road Within 3 km from Chandankiyari chowk towards	Bokaro	Regular	110	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
641	Chas on SH-12	Bokaro	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
642	Between 5 KM & 9 KM from ITI More on NH 32 (On RHS towards Purulia)	Bokaro	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	5
643	From Jodhadih More to Chandramore on SH-12	Bokaro	Regular	110	Open	cc	35	35	1225	25	10	Bidding	30	5
644	Between Jaina More and Bahadurpur on NH-23 new bypass LHS	Bokaro	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
645	Within 3 km from Chandankyari Chowk towards	Bokaro	Regular	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
	Raghunathpur, Chandankiyari, Dist Bokaro On Phusro Dumri Road (Within 5 KM from Makoli													
646	chowk towards Dumri)	Bokaro	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
647	On New NH 23 (Between 1 km & 4 KM from Toll Plaza)LHS Towards Ranchi	Bokaro	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
648	Within 2 km from Sector XI Railway crossing towards Telmocho NH 32 more, Chas, Dist Bokaro	Bokaro	Regular	110	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
649	Within 1.0 Km to 3.0 Km from Jodhadimore	Bokaro	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
650	towards Dhanbad on LHS Between Bokaro Railway Station More and Balidih	Bokaro		150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	2
	Thana LHS on NH-32 Within 1 km to 5 km from Telgharia NH 32 more		Regular							25	_		45	
651	towards Telgharia. Chas. Dist Bokaro Between Garga Bridge to ITI More on NH23 (new	Bokaro	Regular	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
652 653	bypass) on NH-23 RHS	Bokaro	Regular	150 150	Open CC 1	DC	35	45 45	1575 1575	25 25	75 10	Draw of Lots	15 30	5
654	2 Km from Nagan More towards Purlia Phusro Municipal Area on Phusro Jena More Road	Bokaro Bokaro	Regular Regular	100	Open ST	CFS	35	35	1225	0	0	Bidding Draw of Lots	0	3
655	Between Garga Bridge to Dharmsala More , Bokaro	Bokaro	Regular	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
656	on RHS Retween Garga Bridge to ITI More on NH23 (new	Bokaro	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	bypass) on LHS Pindrajora Thana, Bokaro to Kashi Jharia Mkt RHS													5
657	on NH-32	Bokaro	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	-
658 659	Phusro Municipal Area on Phusro Kathara Road  Between Pichhri & Tenughat, Peterwar Bokaro	Bokaro	Regular	110	ST OBC	CFS DC	35 35	35	1225 1225	0 25	0 45	Draw of Lots	15	3
660	From Kashi Jharia Mkt, Bokaro to Jharkhand border	Bokaro Bokaro	Regular Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots Draw of Lots	15	5
661	on NH-32 Between Bokaro thermal plant and Narki on	Bokaro	Regular	100	Open CC 2	DC	35	35	1225	25	45	Draw of Lots	15	5
662	Bishnugarh Road 4 KM from Peterbar Chowk in Peterbar to Tenughat	Bokaro		110	OBC CC 1	DC	35	35	1225	25	45	Draw of Lots	15	4
663	on Tenughat Road Between Tupkadih and Phusro on MDR77	Bokaro	Regular Regular	110	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots  Draw of Lots	0	3
664	From Mile Stone 55 KM to Mile stone 60 KM on NH-	Bokaro	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
665	Road connecting NH-23 towards Kasmar (up to 5	Bokaro	Regular	110	Open	СС	35	35	1225	25	10	Bidding	30	5
666	Km) Within 2km from Debiyana More on LHS Kolkata -	Dhanbad	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
667	Delhi NH 2 Between Lohapatti and Chandrapura T-more on	Bokaro	Regular	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
668	Hirak Road Chas Municipal Area on NH-32	Bokaro	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
669	Between Jaina more and Tupkadih on MDR77	Bokaro	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
670	Between Bahadurpur and Peterbar on NH-23 LHS	Bokaro	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
671	ITI More , Chas to Dharmsala More on NH-23 Retween Rahadurour and Reterbar on NH-23 RHS	Bokaro	Regular	150 150	Open SC	DC CFS	35 35	45 45	1575 1575	25 0	75 0	Draw of Lots	15	5
	Between Bahadurpur and Peterbar on NH-23 RHS	Bokaro	Regular								_	Draw of Lots	15	-
673	Garga Bridge to Dharmsala More , Bokaro on LHS  Between kuramore(Soutaldih) and Pindrajor on NH-	Bokaro	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	2
674	23	Bokaro	Regular	150	OBC	DC	35	45	1575	25	75 45	Draw of Lots	15 15	4
675 676	From Village Bijulia to Parwatpur Between Nagen more and Chas More on NH-32	Bokaro Bokaro	Regular Regular	110 150	Open CC 1 ST	DC CFS	35 35	35 45	1225 1575	25 0	45 0	Draw of Lots Draw of Lots	0	3
677	Bhutnath Mandir to Railway Crossing Telmocho Bridge on NH 32 LHS	Bokaro	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
678	Bhutnath Mandir to Railway Crossing Telmocho Bridge on NH 32 RHS	Bokaro	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
		•		•	•		•	•			•	•		

				Estimated			1			l			Fixed Fee /	
SI. No	Name of location	Revenue District	Type of RO	monthly Sales Potential #	Category	Type of Site*	Minimum Dimer Sq. M.). *	nsion (in M.)/Area	a of the site (in	Finance to be a applicant	rranged by the	Mode of Selection	Minimum Bid amount	Security Deposit
1	2 From Mile Stone 45 KM to Mile stone 50 KM on NH-	3	4	5	6	7		8		9a	9b	10	11	12
679	23	Bokaro	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	5
680	More. Chandrapura. Bokaro	Bokaro	Regular	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
681 682	Uttasara on NH-23 Between Telgaria More And Bandhidih	Bokaro Bokaro	Regular Regular	150 110	ST Open	CFS DC	35 35	45 35	1575 1225	0 25	0 45	Draw of Lots Draw of Lots	0 15	3
683	Between chandankyari chowk to Manpur on Jharia	Bokaro	Regular	100	Open	DC		35	1225	25	60	Draw of Lots	15	5
684	Road Between Sabra more to Chandankyari Chowk	Bokaro	Regular	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
685	Between Chandrapura to Bhandaridih More on Chandrapura Phusro Road	Bokaro	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
686		Bokaro	Regular	110	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
687	1.5 km from Nawadih Thana towards Dumri on	Bokaro	Regular	110	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
688	MDR 73 Between Kasmar more to Pirgul Chowk	Bokaro	Regular	100	OBC PH	DC	35	35	1225	25	45	Draw of Lots	15	4
689	Within 5 Kms of Lakhoria More on LHS of NH114A Towards Deoghar	Deoghar	Regular	150	SC PH	CFS	35	45	1575	0	0	Draw of Lots	0	3
690	Tower Chowk to Chakai More ( LHS or RHS of NH	Deoghar	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
691	Within 05 Kms from Gorainala More on Either Side of Jamtara Mihijam Road (NH 419)	Jamtara	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
692	Within 5 Kms From Bagdaha More on Either Side Of	Deoghar	Regular	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
693	Dumka Jamtara Road Within 3 Kms From Hanuman Mandir Chowk On	Deoghar	Regular	100	Open	сс	35	35	1225	25	10	Bidding	30	5
	Palaiori Sarath Road on LHS/RHS of SH-14 Within 3 Kms from Balthar Chowk on Fither Side of			150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	2
	Within 5 Kms from Kunda More on Fither Side NH	Deoghar	Regular		-						-		U	3
095	114A Within 2 Kms From Palaiori More on Fither Side Of	Deoghar	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
696	Palaiori Bhurkundi Road	Deoghar	Regular	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
697	Within 3 Kms from Shanti Chowk Towards Deoghar on Either Side of NH-114A	Deoghar	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	5
698	Within 5 Kms From Pirnagar More on Either Side Of Sarawah Road	Deoghar	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
699	Within 4 Kms From Ranga More Towads Sultanganj on Either Side of Deoghar Sultanganj Road	Deoghar	Regular	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
700	Within 5 Kms from Shanti Chowk Towards Madhupur on Either Side of NH -114A	Deoghar	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
701	Between Dharampur To Pakur on LHS of Dumka	Pakur	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
702	Sahebgani Highwav Between Km stone 50 & 54 on NH 23	Bokaro	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
703	Between Chopa More to Gormara on RHS of NH 114A	Deoghar	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
704	Within 5 Kms from Pattabari More towards Shikaripara on Either Side of NH 114A	Dumka	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
705	Within 5 Kms From Chona More towards Jarmundi	Deoghar	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
706	Within 1 Km of Khaudipanan More towards	Deoghar	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
707	Deoghar on RHS Of NH 333 Between Palajori To Sarath On Dumka Jamtara	Deoghar	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
	Road Within 5 Kms from Tower Chowk towards Kunda on	Deoghar	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	5
	LHS or RHS of NH 333 Within 2 Kms from Jama More Towards Deoghar on	_		150		DC	35	45		25	75	_	15	-
709	NH 114A Within 5 Kms From Jarmundi Chowk Towards	Dumka	Regular		Open				1575			Draw of Lots		5
/10	Deoghar on Either Side of NH 114A	Dumka	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
711	Within 3km from Karkend to Putki on LHS on NH-32	Dhanbad	Regular	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
712	Within 5 Kms From Nonihat Chowk Towards Dumka on Either Side Of Dumka Bhagalpur Road(NH 117)	Dumka	Regular	150	ST CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
713	on Either Side Of Dumka Bhagalpur Road (NH 117)	Dumka	Regular	150	Open PH	DC	35	45	1575	25	75	Draw of Lots	15	5
714	Road	SAHIBGANJ	Regular	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
/15	Either Side of NH 114A	Dumka		150	Open	CC		45	1575	25	10	Bidding	30	5
	Geria village, Block Nala Within 3 Kms From Jama More Towards Palajori On	Jamtara	Regular	100	SC	CFS	35 35	35	1225	0 25	60	Draw of Lots Draw of Lots	15	5
/1/	Either Side of SH 15	Dumka	Regular	100	Open	DC		35	1225	<b>.</b>			15	
/10	Madhupur Within F. Kms From Pupass Road Towards Pampur	Deoghar	Regular	100	OBC	DC		35	1225	25	45	Draw of Lots	15	-
/15	on NH114A	Dumka	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
720	Side Of Deognar to Sarath Road (NH 114A)	DEOGHAR	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
/21	Side of NH 114A	Dumka	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
722	Within 3 Kms Of Massanjor Thana in Dumka Block on Either Side of Dumka Siwri Road	Dumka	Regular	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
723	Within 5 Kms Of Lakhoria More on Fither Side of	Deoghar	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	5
724	Either Side of Raneshwar Pattabari Road	Dumka	Regular	100	Open CC 1	DC		35	1225	25	45	Draw of Lots	15	5
725	Nonihat on Hansdiha Nonihat Road	Dumka	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
726	Side of NH 133	Godda	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
727	Within 5 Kms of Lakhoria More on RHS of NH114A Towards Deoghar	Deoghar	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	5
728	Within 3 Kms of Kalaiharia More on Fither Side of	Jamtara	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
		SAHIBGANJ	Regular	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
730	Road Within 5 Kms From Poraiyahat Block Office Towards Hansdiah On Poraiyahat Hansdiah Road(NH 133)	Godda	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
731	Within 2 Kms From Sadipur Middle School Towards	Dumka	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
/31	Suri on Dumka Suri Road													

				Estimated	l		l			l		l	Fixed Fee /	
SI. No	Name of location	Revenue District	Type of RO	monthly Sales Potential #	Category	Type of Site*	Minimum Dime Sq. M.). *	nsion (in M.)/Are	a of the site (in	Finance to be a applicant	rranged by the	Mode of Selection	Minimum Bid amount	Security Deposit
1	2 Within 5 Kms From Sonaraithari Block Head Quarter	3	4	5	6	7		8		9a	9b	10	11	12
733	on Either Side Of Ghormara To Basukinath Road Via	DEOGHAR	Regular	100	ОВС	DC	35	35	1225	25	45	Draw of Lots	15	4
734	Within 5 Kms From Hansdiha Chowk Towards Godda on Hansdiha Godda Road(NH 133)	Dumka	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
735	Within 5Km From Denobili School Dogwadih	Dhanbad	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
736	Towards Chandankivari (ODR) Within 5 Kms From Saraiyahat Block Towards	Dumka	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	5
737	Hansdiah on Either Side of NH 133  Between Guhiajori More and Shikarinara on			150	OBC	DC	35	45	1575	25	75		15	4
	NH114A Withing 5 Kms From Godda Chowk Towards	Dumka	Regular									Draw of Lots	-	-
738	Pathergama on Godda Pathergama Road	Godda	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
739	NH-23	Bokaro	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
740	Within 2 Kms of Sarwan Block Headquarters on Either Side of NH114A towards Deoghar	Deoghar	Regular	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
741	Within 3 KMs from Nunajor More towards Mahagama on RHS of NH 133	Godda	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
742	Within 3 Kms From Godda Chowk Towards Sunderpahari on Either Side of NH 133	Godda	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
743	Between Pathargama To Mahagama on Godaa Mahagam Road	Godda	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
744		Bokaro	Regular	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
745	Withing 5 Kms From Mirza Chowki Railway Phatak towards Sahebganj On Either Side of NH-80	SAHIBGANJ	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
746	Within 5 Kms From Tinmuhani More Towards Borio	SAHIBGANJ	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
747	on Either Side of NH80 Within 5 Kms from Godda Chowk Towards Banka	Godda	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
	on Godaa Banka Road Within 5 Kms from Belbada Thana on Either Side NH													4
748	133 towards Godda	Godda Dhanbad	Regular Regular	150	OBC Open	DC CC	35 35	45 35	1575	25 25	75 10	Draw of Lots Bidding	15 30	5
750	Between Dharampur To Pakur on RHS of Dumka	Pakur	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
751	Sahebgani Highwav Within 1 Km of SRT College(Dhamari) on Either Side	Godda	Regular	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
752	Piroiour Bhagaiva Road Between Mahagamm To ECL More on Either Side of	Godda	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	2
753	NH 133 Within 3 KM of Dighi More on NH 80	SAHIBGANJ	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
754	Within 2 km from Mahuda More towards Dhanbad	Dhanbad	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
755	(NH 32) Between ECL More To Dariya Chowk on Left Side of	Godda	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
756	NH133 Within 5 Kms from Hansdiha Chowk towards	Dumka	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
,30	Deoghar On Hansdiah Chopa More Road(NH 133)	Danika	negalai	130	J.	c. 5	33		1373			Didw or Lots		
757	Within 5 Kms From Ramnagar Chowk towards Farakka on RHS of NH80	SAHIBGANJ	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
758	From Nalanda gate,CIMFR Digwadih to Jawaharlal Nehru Stadium, Jealgora on Jharia Sindri Road	Dhanbad	Regular	100	Open	сс	35	35	1225	25	10	Bidding	30	5
759		Bokaro	Regular	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
760	Within 10 Kms From Udhwa Chowk towards Raimahal on Either Side of NH-80	SAHIBGANJ	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
761	Within 4.0KM from Bagodar Police Station towards Delhi on LHS on Kolkata- Delhi Road (NH2)	Giridih	Regular	150	ST CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
762	Within 2 Kms From Ramgarh More towards Goiyajori on Ramgarh Goiyajori Road(On Either Side Of Road)	Dumka	Regular	100	Open CC 2	DC	35	35	1225	25	45	Draw of Lots	15	5
763	Between Amrapara to Singarshi on Either Side of Amrapara to Singarsi Road	Pakur	Regular	100	OBC CC 1	DC	35	35	1225	25	45	Draw of Lots	15	4
764	Within 10 Kms From Udhwa Chowk Towards Barharwa on Either Side of NH-80	SAHIBGANJ	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
765	Rajudih village, Block Raneshwar	Dumka	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
766	Within 3 KM of Sakrigali on NH 80 Within 5 Kms from Ramnagar Chowk towards	SAHIBGANJ	Regular	150	OBC -	DC	35	45	1575	25	75	Draw of Lots	15	4
767	Farakka on LHS of NH 80 5Km from Mahuda Bazar towards Putki on LHS on	SAHIBGANJ	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
768	NH-32 Between Deopur To Hiranpur On Either Side Of	Dhanbad	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
769	Deopur Hiranpur Road	Pakur	Regular	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
770	Pachmba on Giridin- Pachamba Road on LHS	Giridih	Regular	100	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
771	Within 5 KM of Bagodar More towards Atka on LHS on NH-2	Giridih	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
772	Within E Vmc Of Nala More Towards Asansal on	Jamtara	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
773	Between Deopur To Pakur Town on Either Side of	Pakur	Regular	100	ОВС	DC	35	35	1225	25	45	Draw of Lots	15	4
774	Deopur Pakur Town Road Within 3 KM of Mohanpur on Godda-Pathargama	Godda	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
775	on NH 133 Within 2 Km from Pindra Jora Bazar towards Chas	Bokaro	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	on LHS Within 5 Kms of Nala More towards Dumka On					DC	35			25				-
776	Either Side of Nala Dumka Road	Jamtara	Regular	100	Open CC 1			35	1225		45	Draw of Lots	15	
777	Mihijam on Jamtara Mihijam Road	Jamtara	Regular	100	OBC	DC CFS	35	35	1225	25 0	45	Draw of Lots	15	4
778	Either Side of Runakura Ghat Road, Block Nala Within 2km from Giridih College, Giridih towards	Jamtara	Regular	100	ST			35	1225		U	Draw of Lots	U	3
779	Bengabad on Giridih -Madhupur Road (NH 114A)  Between Sanjay Chowk & West Bengal border on	Giridih	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	5
780	Between Sanjay Chowk & West Bengal border on RHS on NH 2 while going to Kolkata from Varanasi Within 5 Kms From Margomunda Block Head	Dhanbad	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	5
781	Quarter on Either Side of Madhupur To Laha Jori Road	Deoghar	Regular	100	ОВС	DC	35	35	1225	25	45	Draw of Lots	15	4
782	Between Karamdaha Bridge to Narayanpur Block towards Jamtara on RHS of Govindpur Sahebganj Highwav	Jamtara	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
783	Giridin on Bengabad- Madnupur Koad	Giridih	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
784	Within 3 km of Pattabari on Dumka-Rampurhat Road (NH 114A)	Dumka	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
785	Between Shakrigali to Koradih on Either Side of	SAHIBGANJ	Regular	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
	NH19			l .	l .	l	l .	L		l .	l .	ı		

				Estimated									Fixed Fee /	
SI. No	Name of location	Revenue District	Type of RO	monthly Sales Potential #	Category	Type of Site*	Minimum Dime Sq. M.). *	nsion (in M.)/Are	a of the site (in	Finance to be a applicant		Mode of Selection	Minimum Bid amount	Security Deposit
786	2 Within 2 Km from Phulbaria Chowk on Either Side	3 SAHIBGANJ	4 Regular	150	6 Open	7 CC	35	8 45	1575	9a 25	9b 10	10 Bidding	11 30	12
	of NH-80 Within 4.0KM from State Bank of India Baniyadih		Regulai							23	10		30	,
787	Branch towards Pirtand on Giridih-Isri Road	Giridih	Regular	150	SC PH	CFS	35	45	1575	0	0	Draw of Lots	0	3
788	Within 5 Kms of Fatehpur on RHS Of Dumka Sahebgani Highway	Jamtara	Regular	100	OBC PH	DC	35	35	1225	25	60	Draw of Lots	15	4
789	Within 3.0KM from Rajdhanwar Post Office towards Khorimahua on Rajdhanwar -Khorimahua Road	Giridih	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
790	Between Memko More and Gol Building on either side	Dhanbad	Regular	100	Open	сс	35	35	1225	25	10	Bidding	30	5
791	Between Naro More and Deoli towards Kolkata on LHS on NH-2	Dhanbad	Regular	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
792	Within 2 Kms from Taljhari Station, Block Taljhari	SAHIBGANJ	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
793	5 Kms from block topchachi towards dumri on RHS	Giridih	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
794	Within 5.0KM From Khorimahua chowk towards Koderma on Khorimahua- Koderma Road	Giridih	Regular	100	Open	сс	35	35	1225	25	10	Bidding	30	5
795	Between Birsa Munda Park and Barwadda Chowk	Dhanbad	Regular	100	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
796	Between milestone no 8 and 11 on Mccluskigunj- Tangar Road. Block- Khalari	Ranchi	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
797	Upto 4 Kms from Bank More, Thakurgaon towards Pithoria, Block - Burmu	Ranchi	Rural	60	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
798	From Ambedkar Chawk towards Chandwe Market within 4 kms on RHS, Block- Kanke	Ranchi	Rural	60	SC -	CFS	20	20	400	0	0	Draw of Lots	0	2
799	Mahilong, Block- Namkum  Within 3 kms of Sonahatu Thana on either side of	Ranchi	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
800	Bundu-Sonahatu Road, Block- Sonahatu	Ranchi	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	٥	*
801	Upto 4 Kms from Burmu PS towards Thakurgaon on Thakurgaon-Burmu Road, Block- Burmu	Ranchi	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
802	Within 4 kms from Sonahatu Police Station towards Silli. Block- Sonahatu	Ranchi	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
803	From Ambedkar Chawk towards Chandwe Market within 4 kms on LHS. Block- Kanke	Ranchi	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
804	Between Daladali Chowk and Mahadeo Tangra Temple via Daladali Bhonda Road , Block- Ratu	Ranchi	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
805	From Burmu PS towards Ray within 2 kms, Block -	Ranchi	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
806	Burmu Upto 4 Kms from Bank Mode, Thakurgaon towards	Ranchi	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Burmu on Thakurgaon-Burmu Road , Block- Burmu  Upto 4 Kms from Bank of India, Baranda towards												,	*
807	Jhabri. Block- Sonahatu  Between KM Stone of 2 to 5 on MDR 130 on left	Ranchi	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
808	side on Garhwa Majhiaon Road, Block- Garhwa	Garhwa	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
809		Palamau	Rural	48	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
	Manatu Within 2 KM from Nawadih Post Office towards						20	20	400	40	20		_	
810	Daltonganj on Bhandariya Daltonganj Road , Block- Ramparh Between KM Stone 13 to 15 on MDR 131, Block-	Palamau	Rural	54	Open	DC	20	20	400	12	30	Draw of Lots	5	4
811	Bhandariva Within 2 KM from KM stone 24 of MDR 136	Garhwa	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
812	towards Chiniva. Block- Chiniva	Garhwa	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
813	Within 2KM from Bishunpura Block towards Ramna on Bishunpura Ramna Road, Block- Bishunpura	Garhwa	Rural	54	Open	DC	20	20	400	12	30	Draw of Lots	5	4
814	Within 2 KM from Pandu Police Station on Pandu Mussikhap Road and Pandu Chhatarpur Road(On	Palamau	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Both Road), Block- Pandu  Between KM stone 15 to 17 of MDR 141 on				-,-									
815	Barwadih Kutumu Road. Block- Barwadih Within 1 KM on either side of Paduma Police Picket	Latehar	Rural	52	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
816	Palamu, Block- Manatu Tubat River bridge towards Dihimurp village within	Palamau	Rural	56	OBC -	DC	20	20	400	12	30	Draw of Lots	5	3
817	2KM. Block- LATEHAR Within 1 KM on either side of Sun Temple of Gram	Latehar	Rural	64	Open	DC	20	20	400	12	30	Draw of Lots	5	4
818	Diwan Bigha(Simarsot) on Haidarnagar Japla Road, Block- Haidernagar	Palamau	Rural	60	Open CC 2	DC	20	20	400	12	30	Draw of Lots	5	4
819	Within 1 KM on either side of Rajkiya Prathmik Vidvalava, Kachan, Block- Chainpur Petusop Dungika to Rimi on Panki Road, Block	Palamau	Rural	48	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
820	Between Dwarika to Rimi on Panki Road, Block- Panki Within 2 KM from Damodar Bridge towards	Palamau	Rural	48	SC CC 1	CFS	20	20	400	0	0	Draw of Lots		2
821	Balumath.Latehar. Block- Balumath	Latehar	Rural	69	Open	DC	20	20	400	12	30	Draw of Lots	5	4
822	Within 2 KM from Naurang Chowk towards Bajkum on Naurang Bajkum Road , Block- Latehar	Latehar	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
823	within 2 KM from Kandi PS towards Majhiaon, Block- Kandi	Garhwa	Rural	80	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
824	Within 1 KM on either side of Utkramit Prathmik Vidyalaya, Harizan Tola, Belchmpa, on Tildag	Garhwa	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
825	Belchmoa road, Block- Garhwa Between KM stone 3 to 5 of ODR Daltonganj Jond	Palamau	Rural	72	Open	DC	20	20	400	12	30	Draw of Lots	5	4
826	Road. Block- Daltongani Within 2 KM from Sagalim More towards Tarhassi, Block- Tarhassi	Palamau	Rural	64	Open	DC	20	20	400	12	30	Draw of Lots	5	4
827	Within 1 KM on either side of Maa Radhika Devi	Garhwa	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Inter College Sagma on MDR 139, Block- Sagma Within 1 KM on either side of Rajkiya Utkramit Uchh													
828	Vidyalaya, Morbey, Block- Majhiaon	Garhwa	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
829	Within 2 KM from New Murpa PS towards Damodar Bridge, Block- Balumath	Latehar	Rural	64	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
830	within 2 KM from Rajkiya Madhya Vidyalaya, Mahugawan towards Daltonganj , Block- Chainpur	Palamau	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
831	Within 2 KM Bodra Panchayat Sachiwalaya towards Kamat Village on Majhiaon Nagar Untari Road,	Garhwa	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
832	Block- Maihiaon within 2KM from Lokaiya More towards Lohardaga ,	Latehar	Rural	48	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
034	Block- Chandwa	Locellai	i\ui dl	**	open CC 1	DC.	20	20	400	14	30	DI AW UI LOTS		<b>→</b>

ſ			1	L	ı	1	ı					1	l .	
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dime	nsion (in M.)/Are	a of the site (in	Finance to be a	arranged by the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	5q. m.).	8		9a	9b	10	11	12
833	Within 5 KM from Tildag Belchampa more towards Belchmpa on Tildag Belchampa Road , Block- Garhwa	Garhwa	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
834	Within 2 KM from Rajkiya Utkramit Madhya Vidyalaya, Matpurhi towards Paduma , Block	Palamau	Rural	60	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
835	Tarhassi. Block- Tarhassi within 2 KM from Ramkanda Old Police Station more towards Ramkanda Post Office , Block-	Palamau	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
836	Ramkanda Between KM stone 10 to 12 on MDR 30 Garhwa	Garhwa	Rural	54	Open	DC	20	20	400	12	30	Draw of Lots	5	4
837	Maihiaon Road. Block- Maihiaon Within 2 KM from Semra More towards Ranka,	Palamau	Rural	60	ОВС	DC	20	20	400	12	30	Draw of Lots	5	,
	Block- Chainpur Between KM Stone 1 to 3 on ODR Majhiaon			60	ST	CFS	20	-	400	0	0	Draw of Lots	0	2
838	Sundipur Road, Block- Manihiaon within 2 KM from Rajkiya Utkramit Prathmik	Garhwa	Rural	60	31	CFS	20	20	400	U	U	Draw or Lots	U	2
839	Road . Block- Bishunpura	Garhwa	Rural	54	Open	DC	20	20	400	12	30	Draw of Lots	5	4
840	Within 2 KM Rajkiya Utkramit Vidyalaya Sarhua towards Ramgarh Block, Block- Ramgarh within 1 KM on either side of Rajkiya Urdu Madhya	Palamau	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
841	Vidyalaya, Pratap Pur on Belchmpa Majhiaon Road, Block- Garhwa	Garhwa	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
842	Between KM Stone 7 to 10 on MDR 136, Block- Garhwa	Garhwa	Rural	54	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
843	Between KM stone 4 to 8 on MDR 128, Block- Chhatarour	Palamau	Rural	68	Open	DC	20	20	400	12	30	Draw of Lots	5	4
844	Between KM Stone 1 to 4 on MDR 136, Block- Garhwa	Garhwa	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
845	Within 10 KM from Kochedega Panchayat Bhawan towards Ramrekha Dham, Block- Simdega	Simdega	Rural	60	ОВС РН	DC	20	20	400	12	30	Draw of Lots	5	3
846	Between Karra Thana and Karra Railway Level Crossing, Block- Khunti	Khunti	Rural	60	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	2
847	within 5 km from Bano More near Kamdara towards Bano, Block- Kamdara	Gumla	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
848	Within 5 KM from Manjhatoli Chowk towards Chainpur Village Road, Block- Raidih	Gumla	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
849	Within 5 km from Konbir Chowk towards Palkot on Village Road, Block- Basia	Gumla	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
850	Within 5 KM from Basia More at Sisai towards	Gumla	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
851	Basia, Block- Sisai Within 5 KM from Karra Thana towards Sisai via	Khunti	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
852	Govindpur, Block- Khunti Within 5 KM from Darha Chowk towards Duriya,	Gumla	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
853	Lapung, Block- Sisai within 5 km from Sisai Chowk to Bargaon - Ghaghra	Gumla	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
854	Rural Road, Block- Dumri Within 5 KM from Jari Block to towards Dumri,	Gumla	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
855	Block- Albert Ekka(Jari) Within 5 KM from Bank of India, Chainpur Branch	Gumla	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	towards Manihatoli. Block- Chainpur Within 5 KM from Bank of India, Chainpur Branch										_			2
856	towards Dumri. Block- Chainpur Within 2 KM from Kharsawa Post Office towards	Gumla	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
857	Chilku. Block - Kharsawan Within 5 km from Karra Railway Crossing towards	SARAIKELA KHARSAWAN	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
858	Torpa, Block- Khunti	Khunti	Rural	60	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
859	Within 4 KM from Kotam Post Office towards Gumla - Lohardaga State Highway, Block- Gumla	Gumla	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
860	Within 5 km from Karra Railway Crossing towards Khunti, Block- Karra	Khunti	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
861	Karra. Block- Karra	Khunti	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
862	Within 2 Km in either side of Kisko Block on Lohardaga - Nari Nawari Road, Block- Kisko	Lohardaga	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
863	Within 5 KM from Karra Thana towards Lodhma Road, Block- Karra	Khunti	Rural	60	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
864	Within 5 KM from Netaji Chowk at Khunti towards Taimara Road, Block- Khunti	Khunti	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
865	Within 2 KM either side of Durga Mandir, Barkichapi	Lohardaga	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
866	Within 2 KM from Kharsawa Post Office towards Haribhanja, Block - Kharsawan	SARAIKELA KHARSAWAN	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
867	Within 5 km From Bank of India, Bagru Branch at Nigni, Lohardaga towards Bagru Mines, Block-	Lohardaga	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Iohardaga Within 5 KM from Netaji Chowk at Khunti towards	-												
868	Karra Road. Block- Khunti Within 5 KM from Karra More at Torpa on Torpa -	Khunti	Rural	60	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
869	Karra Road, Block- Torpa Within 5 Km from Thethaitanger to Bolba , Block-	Khunti	Rural	60	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
870	Thethaitangar	Simdega	Rural	60	Open PH	DC	20	20	400	12	30	Draw of Lots	5	4
871	Within 3 KM from Chatti Chowk towards Lohardaga on LHS, Block- Bhandara	Lohardaga	Rural	60	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
872	Within 3 KM from Lohardaga Railway Station towards Irgaon via arkosa. Block- Lohardaga	Lohardaga	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
873	Within 5 KM from Kamdara Church towards Redma Block- Kamdara	Gumla	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
874	Station More, Kujra till end of Iohardaga district Barkichapi - Chandwa Road, Block- Lohardaga	Lohardaga	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
875	Within 3 KM from Chatti Chowk towards Lohardaga on RHS, Block- Bhandara	Lohardaga	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
876	Within 3 KM Khaira manjhi Dwar towards Chapar, Block- Patratu	Ramgarh	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
877	Between Jaldega Block to Lachragarh Chowk, Block- Jaldega/Kolebira	Simdega	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
878	TCI DAV School More on Karra-Govindpur Road till Border of Khunti District towards Sisai, Block- Karra	Khunti	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
879	Between Dulmi chowk to Kulhi more ( Gola - Sikidari Road ), Block- Dulmi	Ramgarh	Rural	60	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
880	Within 5 KM from albert ekka Chowk towards Kurdeg, Block- Simdega	Simdega	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
881	Between Rengari Church to Konpala Bazar, Block-	Simdega	Rural	60	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
882	Thethaitanger Within 4 KM Nandini Bridge, Dhobali towards	Lohardaga	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
883	Lohardaga. Block- Bhandara Within 5 KM from Lari, Budh Bazar more (NH - 23)	Ramgarh	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	towards Dulmi. Block- Dulmi		.10101	120	220	175	I	I	,		1,50		ľ	لـــــــــا

		T	ı		1		ı			ı		I		
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dime	nsion (in M.)/Are	a of the site (in	Finance to be a applicant	rranged by the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	Sq. m.).	8	•	9a	9b	10	11	12
884	Within 5 KM from Kulukera Chowk towards Simdega, Block- Simdega	Simdega	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
885	Between Garja Chowk to Kochedega Chowk, Block- Simdega	Simdega	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
886	Between Rengari Chowk to Paikpara Panchayat Bhawan, Block-Thethaitanger	Simdega	Rural	60	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
887	Within 5 KM from Pandripani, Simdega chowk towards Jaldega . Block- Thethaitangar	Simdega	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
888	Within 5 Km from Garja towards Rengari, Block- Simdega	Simdega	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
889	within 5 km from Bano Chowk towards Kamdara	Simdega	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
890	Road, Block- Bano Within 5 km from Rengari Thana towards - Garja,	Simdega	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
891	Block- Thethaitangar Within 5 KM from Bank of India, Bolba towards	Simdega	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
892	Thethaitangar, Block- Bolba Within 2 kms from Hata chowk towards Potka ,	EAST SINGHBHUM	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
893	Block- POTKA Within 3 Kms from Jadugora thana towards	FAST SINGHBHUM	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	-	4
894	Mosabani , Block- POTKA Within 2 kms from Bank of india, Boram towards	EAST SINGHBHUM		60	OBC	DC	20	20	400	12	30		-	2
	Kuiani. Block- Boram Between media market and amainagar via baraghat		Rural									Draw of Lots	2	3
895	stadium, Block - Mosabani Within 3 kms from Samudayik Swasthya	EAST SINGHBHUM	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
896	kendra(Kendadih) towards Jadugora, Block- MOSABANI	EAST SINGHBHUM	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
897	within 3 kms from CSC centre Lohamalia towards	EAST SINGHBHUM	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
657	chakulia on Sisakhun chakulia road, Block- CHAKUHA	EAST SINGHBHOW	Rural	00	ОВС	DC .	20	20	400	12	30	Draw or Lots	,	3
898	Within 2 kms from Sri Sri Vidayamandir towards chengjora on Burudih Road, Block- GHATSILA	EAST SINGHBHUM	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
899	Within 3 Kms from Surda Crossing towards	EAST SINGHBHUM	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Jadugora, Block- MOSABANI Within 2 kms from UCIL NARAPAHAR towards									-			-	$\vdash \vdash \vdash$
900	Bhatin on jamshedpur mosabani road, Block- Golmuri cum iugsalai	EAST SINGHBHUM	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
901	Between Rahargora Chowk towards Gadra College, Block- Golmuri cum iugsalai	EAST SINGHBHUM	Rural	60	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
902	Within Kankidih Chowk and Bandwan Border on Katin- bandwan Road, Block- PATAMDA	EAST SINGHBHUM	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
903	Within 3 kms from Bank of India, Muturkham	EAST SINGHBHUM	Dooral	60	0	DC	20	20	400	12	30	Draw of Lots	5	
503	towards Dhalbhumgarh, Block- DHALBHUMGARH	EAST SINGHBHOW	Rural	00	Open	DC	20	20	400	12	30	Draw or Lots	,	*
904	Within 3 kms from Matladih towards Seema Nala(Kacha), Block- POTKA	EAST SINGHBHUM	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
905	Within 3 kms from kamalpur police station towards patamda on katin- jamshedpur road, Block- Katin	EAST SINGHBHUM	Rural	60	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
	Within 2 kms from bhalukbinda towards Chakulia													
906	on Dhalbhumgarh- Chakulia Road, Block- CHAKULIA	EAST SINGHBHUM	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
907	Within 2 Kms form Kashida Chowk towards Rankini Mandir Ghatsila. Block- GHATSILA	EAST SINGHBHUM	Rural	60	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
908	Within 3 Kms from Surda Crossing towards Mosabani. Block- MOSABANI	EAST SINGHBHUM	Rural	60	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
909	Batween Lawjora to Haludbani on Bara Bazar Road, Block- BORAM	EAST SINGHBHUM	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
910	Between Railway crossing at Barigora Chowk to	EAST SINGHBHUM	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots		4
510	Sarjamda Chowk, Block- Golmuri cum jugsalai	EAST SINGHBHOW	Nulai	00	Орен	DC	20	20	400	12	30	Draw or Lots	3	*
911	Between Railway crossing at Barigora Chowk to Sopodera Puja Maidan, Block- Golmuri cum jugsalai	EAST SINGHBHUM	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
912	Within 3 kms from Patamda chowk towards Boram,	EAST SINGHBHUM	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
913	Block- PATAMDA Within 3 kms form Pitajudi(T-point) towards Bara	EAST SINGHBHUM	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
313	Genrvas, Block- BAHRAGORA On kashida- hullung road betweeen village	Er Si Sillonisironi	Marai	00		C. 5			100			D10W 01 200		
914	kharswati and Bank of India, Hullung, Block- Ghatsila	EAST SINGHBHUM	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
915	Within 3 kms from Rankini Mandir towards potka on Hata- Mosabani Road. Block- POTKA	EAST SINGHBHUM	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
916	Within 2 kms from boram thana towards West	EAST SINGHBHUM	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Bengal on boram madhavpur road, Block- BORAM within 2 kms from galudih chowk towards galudih													$\vdash$
917	bandwan road. Block- Ghatsila Within 3 kms from Chota banki NH-33 towards	EAST SINGHBHUM	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
918	kalajhor on Chota banki kalajhor road, Block-	EAST SINGHBHUM	Rural	60	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
040	Golmuri cum iugsalai Between Barigora Rly crossing to Bara Govindpur	CAST SINGUP:					20	20	400	4.0			_	
919	Rly crosssing via Gadra, Block- Golmuri cum jugsalai	EAST SINGHBHUM	Rural	60	Open CC 2	DC	20	20	400	12	30	Draw of Lots	5	4
920	Within 1 kms from kashida chowk towards Barajuri road, Block- Ghatsila	EAST SINGHBHUM	Rural	60	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
921	Within 3 kms from Surda crossing towards Moubhandar, Block- MOSABANI	EAST SINGHBHUM	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
922	Within 3 kms from Hurlung bridge(swarnrekha	EAST SINGHBHUM	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
923	cum iugsalai JUGSALAI TO JAIKAN, Block- GAMHARIA	WEST SINGHBHUM	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
924	SONUA CHOWK TO GOELKERA CHOWK, Block-	WEST SINGHBHUM	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
925	SONUA KANKARDIH CHOWK TO DC OFFICE SARAIKELA,		Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
926	BIOCK- SARAIKELA SARAIKELA MORE TO RAJNAGAR CHOWK, Block-		Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
927	SARAIKELA KONBERA( ON JAIKAN TO RAJNAGAR ROAD), Block-	WEST SINGHBHUM	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots		2
	GAMHARIA						20			12				4
928	CHAIBASA MORE TO TATNAGAR, Block- CHAIBASA SANKOSAI MANDIR MORE TO SONUA, Block-	WEST SINGHBHUM	Rural	60	Open	DC		20	400		30	Draw of Lots	-	
929	CHAIBASA	WEST SINGHBHUM	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
930	TIKAR MORE TO MILLAN CHOWK, Block- ICHAGARH WITHIN 2 KM SOBHAPUR CHOWK TOWORDS	SARAIKELA KHARASAWAN	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	13
931	RAJNAGAR. Block- GAMHARIA	WEST SINGHBHUM	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
932	RAGHUNATHPUR BAZAAR TO PATAMDA ROAD(WITHIN 10KMTRS), Block- CHANDIL BLOCK	SARAIKELA KHARASAWAN	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
L	,	l	l	1		l .	l	l		l	l	ı	l	ш

				L	l	l	1			l		1		
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dime	nsion (in M.)/Are	a of the site (in	Finance to be a applicant	rranged by the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	Sq. m.).	8		9a	9b	10	11	12
933	SARAIKELA HAT BAJAAR TO BURUDIH CHOWK, Block- SARAIKELA	SARAIKELA KHARASAWAN	Rural	60	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
934	KHADPOSE (ON MAJHGAON TO KHADPOSE) , Block- MAJHGAON	WEST SINGHBHUM	Rural	60	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
935	NAYAGAON (ON MAJGAON TO BENISAGAR ROAD),	WEST SINGHBHUM	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
936	Block- MAJHGAON WITHIN 2 KM FROM MOHALDIH TOWORDS	WEST SINGHBHUM	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
937	GAMHARIA BLOCK OFFICE . Block- GAMHARIA WITHIN 2 KM FROM JAMJORA TOWORDS	WEST SINGHBHUM	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	_	4
	BISTUPUR, Block- GAMHARIA TILAKATI (ON TILAKATI TO BENISAGAR ROAD),												_	
938	Block- MAJHGAON RAIKHAMAN ( WITHIN 2KM FROM BANK OF INDIA	WEST SINGHBHUM	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
939	MAJHGAON TOWORDS RAIKHAMAN), Block- MAJHGAON	WEST SINGHBHUM	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
940	SARDA- (WITHIN 2 KM ON SARDA TO NAYAGAON ROAD). Block- MAJHGAON	WEST SINGHBHUM	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
941	GHALABHANDHA (WITHIN 3KM FROM DASHHARA MELA MAIDAN NAYAGAON TO GHALABHANDA), Block- MAJHGAON	WEST SINGHBHUM	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
942	BALIAPOSHI (WITHIN 2 KM KOYOHAT TOWORD BALIAPOSION BALIAPOSHI TO JAINTGARH ROAD), Block- MAIHGAON	WEST SINGHBHUM	Rural	60	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
943	WITHIN 2 KM FROM KHARBANDH CHOWK TOWORDS KUMARDUNGI BLOCK, Block-	WEST SINGHBHUM	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
944	KUMARDUNGI PALSHA-VILL(WITHIN 2 KMTOWORDS MAJGAON	WEST SINGHBHUM	Rural	60	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	2
945	ROAD), Block- MAJHGAON KHANDKHORI, Block- KUMARDUNGI	WEST SINGHBHUM	Rural	60	OBC PH	DC	20	20	400	12	30	Draw of Lots	5	3
946	KUMIRTA(FROM KUMARDUNGI CHOWK TO KUMIRTA). Block- KUMARDUNGI	WEST SINGHBHUM	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
947	WITHIN 2.5KM FROM TANGAR TOWORDS	WEST SINGHBHUM	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	KUMARDUNGI. Block- KUMARDUNGI WITHIN 2KM FROM PURNAPANI CHOWK												_	
948	TOWORDS TONTO BLOCK OFFICE, Block-TONTO WITHIN 2 KM FROM BARANANDA CHOWK	WEST SINGHBHUM	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
949	TOWORDS JAGNNATHPUR BLOCK OFFICE, Block- JAHNNATHPUR	WEST SINGHBHUM	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
950	DOKOTA (WITHIN 2 KM TOWORDS TONTO BLOCK) , Block- TONTO	WEST SINGHBHUM	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
951	WITHIN 2.5 KM FROM RENGRAHATU CHOWK TOWORDS TONTO BLOCK OFFICE, Block-TONTO	WEST SINGHBHUM	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
952	WITHIN 2 KM FROM BHANGAN CHOWK TOWORDS JAGNNATHPUR BLOCK OFFICE, Block- JAGNNTHPUR	WEST SINGHBHUM	Rural	60	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
953	WITHIN 4 KM FROM GOBINDPUR CHOWK TO BURUDIH CHOWK, Block- SARAIKELA	SARAIKELA KHARASAWAN	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
954	WITHIN 2 KM FROM SIRINGSIA CHOWK TOWORDS TONTO BLOCK OFFICE, Block- TONTO	WEST SINGHBHUM	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
955	WITHIN 2 KM FROM GUMURIA CHOWK TOWORDS JAGNNATHPUR BLOCK OFFICE, Block- JAGNNTHPUR	WEST SINGHBHUM	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
956	WITHIN 2 KM SANNANDA CHOWK TOWORDS JAGNNATHPUR BLOCK OFFICE, Block- JAGNNTHPUR	WEST SINGHBHUM	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
957	WITHIN 2 KM FROM SIYALIORA CHOWK TOWORDS JAGNNATHPUR BLOCK OFFICE, Block-	WEST SINGHBHUM	Rural	60	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
958	JAGNNATHPUR KENJRA(WITHIN 2KM TOWORD TONTO BLOCK), Block-TONTO	WEST SINGHBHUM	Rural	60	sc	CFS	20	20	400	0	0	Draw of Lots	0	2
959	MANIKUI TO CHANDIL BLOCK OFFICE, Block-	SARAIKELA KHARASAWAN	Rural	60	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
960	CHANDIL BLOCK WITHIN 2 KM FROM TIKA CHOWK TO GOBINDPUR	SARAIKELA KHARASAWAN	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
961	CHOWK. Block- SARAIKELA WITHIN 2 KM FROM TONDANGHATU CHOWK TOWORD JAGNNATHPUR BLOCK OFFICE, Block-	WEST SINGHBHUM	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	IAGNNTHPLIR Between Mile stone no. 11 to mile stone no. 15											_		
962	towards kokcho. Block- CHAIBASA WITHIN 2 KM FROM BARBIL CHOWK TO TIKA	WEST SINGHBHUM	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
963	CHOWK. Block- SARAIKELA	SARAIKELA KHARASAWAN	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
964	Between Pampada Chowk and tirildih chowk, Block- CHAIBASA	WEST SINGHBHUM	Rural	60	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
965	Within 3 kms from Chowka more towards Patkum , Block- SARAIKELA	SARAIKELA KHARASAWAN	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
966	Within 4 kms from Bank of India, Situ towards Ichagarh , Block- SARAIKELA	SARAIKELA KHARASAWAN	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
967	WITHIN 2 KM FROM KASISA CHOWK TOWORDS JAGNNATHPUR BLOCK OFFICE, Block- JAGNNATHPUR	WEST SINGHBHUM	Rural	60	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
968	WITHIN 5 KM FROM SARAIKELA CHOWK TOWORDS	SARAIKELA KHARASAWAN	Rural	60	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
969	BARBIL CHOWK. Block- SARAIKELA From Pampada Chowk to Mile stone no. 11, Block-	WEST SINGHBHUM	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
970	CHAIBASA Within 1 km from Tirilbuta towards Pampada	WEST SINGHBHUM	Rural	60	Open PH	DC	20	20	400	12	30	Draw of Lots	5	4
	Chowk, Block- CHAIBASA  Between Mile stone no. 15 to mile stone no. 20													7
971	towards kudabasa, Block- CHAIBASA  Between Mile stone no. 20 to mile stone no. 25	WEST SINGHBHUM	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
972	towards chotimati. Block- CHAIBASA Within Pampada chowk to Tabo chowk, Block-	WEST SINGHBHUM	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
973	CHAIBASA	WEST SINGHBHUM	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
974	Gohal on Koderma - Kowar Road, Block- JAINAGAR	KODERMA	Rural	60	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
975	Ango, Block- Barkagaon Within 1km from Badam Bus Stand towards	HAZARIBAGH	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
976	Ambaiit. Block- Barkagaon Within 2 Km from From Bagra Chowk towards	HAZARIBAGH	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	)	4
977	Lawalong, Block- Simaria	CHATRA	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
978	Within 2 km from Kanhachatti block towards Unta More. Block- Kanhachatti	CHATRA	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
979	Goriya Karma, Block- Barhi Within 3 kms from Pathalgada Chowk towards	HAZARIBAGH	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
980	Balbal Duwari, Block- Pathalgada Pathaldiha on Koderma - Kowar Road, Block-	CHATRA	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
981	KODERMA	KODERMA	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
982	Within 1 km from Unta more towards Itkhori, Block- Chatra	CHATRA	Rural	60	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
983	Hirodih, Block- JAINAGAR	KODERMA	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3

			l		ı	1				l		1		
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dime	nsion (in M.)/Are	a of the site (in	Finance to be a	arranged by the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	5q. m.j.	8		9а	9b	10	11	12
984	Within 1 km from Kullu More towards Chauparan, Block- Chatra Sadar	CHATRA	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
985	Within 1 km from Kariyatpur(T-Point) towards Jhumra. Block- Ichak	HAZARIBAGH	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
986	Within 3KM from Jori Chowk towards Pratappur on Jori-Pratappur Road, Block- Hunterganj	CHATRA	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
987	Bishrampur, Block- Barkagaon	HAZARIBAGH	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
988	Masua on Parsabad-Baghmara Road, Block- JAINAGAR	KODERMA	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
989	Within 2 KM from Middle School, Barsotiabar towards Jainagar on Koderma-Kowar Road, Block- KODERMA	KODERMA	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
990	Within 1 km from Lawalong CRPF Main Gate towards Lawalong Police station, Block- Lawalong	CHATRA	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
991	Within 1 km from Karma Chowk towards Itkhori, Block- Itkhori	CHATRA	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
992	Within 1 km from Pandepura chowk towards Prattapur on Hunterganj-Prattapur Road, Block- Huntergani	CHATRA	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
993	Pitiz on Chatra - Chauparan Road, Block- Itkhori	CHATRA	Rural	60	sc	CFS	20	20	400	0	0	Draw of Lots	0	2
994	Within 1 km from Pandey Mahua Chowk towards Itkhori, Block- Itkhori	CHATRA	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
995	Within 1 km from Panchbheri Chowk towards	HAZARIBAGH	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
996	Barkathha. Block- Barkatha Within 1km from Rajkiya Utkarmit Madhya Vidalaya Baluri towards Prattapur, Block- Hunterganj	CHATRA	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
997	Within 2 km from Katamsandi (Zero Km stone)	CHATRA	Rural	60	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
998	towards Chatra. Block- Katkamsandi Within 2 km Kunda Chowk towards Prattapur on Prattapur -Kunda -Lawalong Road, Block- Kunda	CHATRA	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
999	Within 2 km from Pathalgadda Chowk towards	CHATRA	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1000	Simaria, Block- Pathalgadda Within 2 km from Itkhori Chowk (Market ) towards	CHATRA	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1001	Padma. Block- Itkhori Within 2 km from Jihu chowk (Itkhori More)	HAZARIBAGH	Rural	60	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
1001	towards Itkhori, Block- Padma Within 3 km from Itkhori Chowk (market ) towards	CHATRA	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
	Chatra. Block- Itkhori Within 3km from Utkarmit Madhya Vidalay									-	-		-	-
1003	Chandrodih towards Jainagar More on Koderma- Kowar Road. Block- KODERMA Within 1 km from Markacho Block towards	KODERMA	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1004	Nawadih. Block- Markacho Within 1 km Panchayant Sachivalay Bhondo(	KODERMA	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1005	Bharatpur) on Mahto Ara - Chauparan Road, Block- Chandwara	KODERMA	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1006	Manjhgawa on Pandeybara -Chauparan Road, Block- Chauparan	HAZARIBAGH	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1007	Within 2 km from Basaria Chowk (Budh Bazaar ) towards Chauparan , Block- Chauparan	HAZARIBAGH	Rural	60	sc	CFS	20	20	400	0	0	Draw of Lots	0	2
1008	Within 1 km from Bagro Chowk towards Domchanch, Block- DOMCHANCH	KODERMA	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1009	Within 1 km from Palma More Yatri Shed of Sewatand towards Parsabad, Block- Barkatha	HAZARIBAGH	Rural	60	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
1010	Within 1km from Cambridge Teacher Training College towards Jainagar on Jainagar Road, Block- KODERMA	KODERMA	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1011	Within 1 km from Utkarmit Unch Vidayalay, Dumardiha towards Jainagar on Jainagar Road., Block- KODERMA	KODERMA	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1012	backs at a control to the control to	KODERMA	Rural	60	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
1013	Balsagra, Block- Dari	HAZARIBAGH HAZARIBAGH	Rural	60	Open	DC	20	20	400 400	12 12	30	Draw of Lots	5	4
1014	Bes on Bes -Kundilbagi Road, Block- Dari Karma, Dhauli Ashram-Raniganj Road, Block-	CHATRA	Rural Rural	60	Open ST	DC CFS	20	20	400	0	0	Draw of Lots Draw of Lots	0	2
1016	Huntergani Within 1 km from Urwaon more towards Sainik	KODERMA	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1017	school. Tilaiva. Block- Chandwara Within 1 km from Lawalong CRPF Main Gate	CHATRA	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1017	towards Bagra, Block- Lawalong Within 1 km from Balbal Pul towards Chatra, Block-	CHATRA	Rural	60	Open CC 2	DC	20	20	400	12	30	Draw of Lots	5	4
	Gidhore Within Within 1km from Munam Public School													-
1019	more towards Chauparan, Block- Chauparan Within 2 km from Itkhori Chowk (market )towards	HAZARIBAGH	Rural	60	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
1020	Chauparan, Block- Itkhori Within 1 km from Utkarmit Prathamik	Chatra	Rural	60	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
1021	Vidalay,Khari towrads Markacho on Markacho Saria Road. Block- Chalkusa	HAZARIBAGH	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1022	Within 1km from Middle school Kharik towards Hazaribag, Block- Chatra Sadar	Chatra	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1023	Within 1 km from Ideal Progressive school,Dandadih towrads Maarkacho, Block- Jainagar	KODERMA	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1024	Within 1km from Karni Chowk towards Itkhori, Block- Itkhori	CHATRA	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1025	Within 4 km from Bisungarh Chowk towards Banaso, Block- Bisungarh	HAZARIBAGH	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1026	Within 1 km from Utkarmit Madhya Vidalay Karakhunt towards Bagro, Block- DOMCHANCH	KODERMA	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1027	Within 1km from Berokalan Panchayat Bhawan towards Barkathha, Block- DOMCHANCH	KODERMA	Rural	60	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
1028	Within 1km from Dhodakola towards neeru Pahari ,	KODERMA	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1029	Block- DOMCHANCH Within 1km from Lalpur Chowk towards Hazribag,	HAZARIBAGH	Rural	60	sc	CFS	20	20	400	0	0	Draw of Lots	0	2
1030	Block- Hazaribae Within 1km from Lalpur Chowk towards Oria,	HAZARIBAGH	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1031	Block- Hazaribag Within 1km from Lalpur Chowk towrads Charhi,	HAZARIBAGH	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1032	Block- Hazaribae Within 1 KM from Bahimar Chowk towrads	HAZARIBAGH	Rural	60	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
1033	Hazaribag, Block- Katamsandi Within 1 KM from Rajiv Gandhi Suvidha kendra ,	HAZARIBAGH	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
-000	Digwar towards Daaru, Block- Daaru		. rui di		ı		1	J-~	,00	<u> </u>	ľ	01 £013	ľ	<u></u>

		T	ı		1		ı			1		I		
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dime	nsion (in M.)/Are	a of the site (in	Finance to be a applicant	rranged by the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	Sq. M.). *	8		applicant 9a	9b	10	11	12
1034	Within 2 km from Chandwara (0 Km stone )towards pndeaybara on MDR 109, Block- Chandwara	KODERMA	Rural	60	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
1035	Within 2 km from Rajkiya Utkarmit Madhya Vidalay Rewar towards Hazaribag, Block- Hazaribag	HAZARIBAGH	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1036	Within 1 km from Rajkiya Utkarmit Madhya Vidalay Lara Towrads Hazaribag, Block- Churchu	HAZARIBAGH	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1037	Within 1km from Churchu Block towards Hatyari more , Block- Churchu	HAZARIBAGH	Rural	60	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
1038	Within 1km from Nano towrads Ango , Block- Churchu	HAZARIBAGH	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
4020	Within 1km from Utkarmit Madhya						20	20	400	40	20		-	
1039	Vidalay, Gangpur towards Hazaribag, Block- Churchu Within 1 km from Prathmik Swasth	HAZARIBAGH	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1040	Kendra,Karma(Karma Hospital) towards Bhondo on Bhondo Chouparan Road, Block- Chauparan	HAZARIBAGH	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1041	Manjhgwan on Jihu- Itkhori Road, Block- Itkhori Within 1 km from Allahabd Bank, Ichak towards	CHATRA	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1042	Karivatpur. Block- Ichak Kanko, Block- Chandwara	HAZARIBAGH Koderma	Rural Rural	60	ST Open	CFS DC	20	20	400	12	30	Draw of Lots Draw of Lots	5	4
1044	Brahampura on Chatra to Itkhori Rd, Block- Gidhore	Chatra	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1045	Religarha, Block- Daari	HAZARIBAGH	Rural	60	OBC PH	DC	20	20	400	12	30	Draw of Lots	5	3
1046	Within 1 km from BSNL Telephone exchnage	HAZARIBAGH	Rural	60	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	2
1047	towards Kurha. Block- Ichak Giddi on Hesalong Ramgarh Road, Block- Dari	HAZARIBAGH	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1048	Between thana kola pokhar to deopur, Block- Pakur	Pakur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1049	Either side of Malgodam road, Block- Sahibganj	SAHIBGANJ	Rural	46	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
1050	Between satsang chowk to nandan pahar road,	Deoghar	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1051	Block- Deoghar  Between pandeydih to bhirkhibad , Block- Deoghar	Deoghar	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1052	Either side of habibpur pipe road, Block- Sahibganj	SAHIBGANJ	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
				46		DC	20	20	400	12			-	2
1053	Between Montand and Katras, Block- Dhanbad	Dhanbad	Rural		OBC						30	Draw of Lots	5	3
1054	Either side of pakur dhulian road, Block- Pakur	Pakur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1055	Either side of chowk bazar road, Block- Sahibganj	SAHIBGANJ	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1056	Either side of pakur to barharwa road, Block- Pakur	Pakur	Rural	46	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
1057 1058	Either side of Dahlia road, Block- Sahibganj EITHER SIDE OF RING ROAD, Block- Dumka	SAHIBGANJ Dumka	Rural Rural	46 46	Open Open CC 1	DC DC	20 20	20	400 400	12 12	30 30	Draw of Lots Draw of Lots	5	4
1059	Within 2 kms khatne more on godda bhagalpur	Godda	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1060	road. Block- Gooda Either side of rajmahal tinpahar road, Block-	SAHIBGANJ	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1061	Raimahal Either side of rajmahal malda road, Block- Rajmahal	SAHIBGANJ	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	-	4
	Within 6.0KM from Birni Chowk on Birni Barkhata						-	-					,	*
1062	Road. Block- Barkhata	GIRIDIH	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1063	Between Haripur to Basukinath, Block- Jarmundi	Dumka	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1064	Within 5 Kms from Tirnagar More on Either side of Tirnagar to Sarwan Road, Block- Mohanpur	Deoghar	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1065	Between Bhagnahir and Pokharia on Tundi- Govinpur -Dhanbad Road. Block- Barwadda	Dhanbad	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1066	Either side of durga mandir court road, Block- Jamtara	Jamtara	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1067	Manglahat bazar, Block- Rajmahal Within 3.0KM from Isri Chowk on Isri - Chatro Road	SAHIBGANJ	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1068	towards Chatro, Block- Chatro	GIRIDIH	Rural	46	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
1069	Between Hirapur and Barmasia on either side, Block- Dhanbad	Dhanbad	Rural	46	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
1070	Either side of malpahari road, Block- Pakur Between Jai Baidhnath colony and Lilori maa	Pakur	Rural	46	Open PH	DC	20	20	400	12	30	Draw of Lots	5	4
1071	temple and Kalali More on Tundi-Govindpur- Dhanbad Road. Block- Barwadda	Dhanbad	Rural	46	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
1072	Either side of shrirampur road, Block- Jamtara	Jamtara	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1073	Either side parvat Bihar lane, Block- Jamtara Between Baramasia and Beko on Baramasia- Beko	Jamtara GIRIDIH	Rural Rural	46 46	SC Open	CFS DC	20	20	400 400	12	30	Draw of Lots Draw of Lots	5	4
1074	Road. Block- Birni Gudar ghat village, Block- Rajmahal	SAHIBGANJ	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1076	Between Hirapur and Jaduadih on Hirapur -	Dhanbad	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1077	Karmatanr. Block- Raigani Between Hirapur and Chirudih on Hirapur-	Dhanbad	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1078	Topchanchi Road, Block- Rajganj Piprasol village,madhupur, Block- Madhupur	Deoghar	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1079	From 4.0KM from Bank Of India on Gawa-Satgawa Road, Block- Gawa	GIRIDIH	Rural	46	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
1080	Between jasidih to dardmara road (sagdaha mauja),	Deoghar	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1081	Block- Deoghar Ranibahal village, Block- Dumka	Dumka	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
1082	Between SBI Paradih Branch and Hanuman Mandir Siyatand on Chhotki Kharagdiha- Chatro Road (Main	GIRIDIH	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1083	Road). Block- Bengabad Between Kunda to Madhupur, Block- Kunda	Deoghar	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Within 3km from Baliapur Chowk Towards Sindri on												-	
1084	Baliapur-Sindri Road, Block- Baliapur	Dhanbad	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1085	Within 5km from BIT Sindri Towards Baliapur onLHS Baliapur-Sindri Road, Block- Baliapur	Dhanbad	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1086	Between Harina and Azadnagar on either side, Block- Baghmara	Dhanbad	Rural	46	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
1087	Within 4.0KM from Durga Mandir village Batpat on Jamua- Deoghar Road, Block- Barkhata	GIRIDIH	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1088	From Kalali Phatak towards Katras Thana Chowk on LHS on Rajganj Road, Block- Baghmara	Dhanbad	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
		l	<u> </u>	1	l	1	<u> </u>	<u> </u>		l	l	1	1	

r		Γ	1	1	1	1	1			1		1	1	
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		nsion (in M.)/Are	a of the site (in		rranged by the	Mode of Selection	Fixed Fee / Minimum Bid	Security Deposit
3i. No 1	Parme or location 2	3	4	5	6	7	Sq. M.). *	8		applicant 9a	9b	10	amount 11	12
1089	Within 4km from Bhuiphore towards Baliapur LHS, Block- Dhanbad	Dhanbad	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1090	Within 3 km from Shakardih towards Tetulia on	Dhanbad	Rural	46	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
1091	Asna-Bardahi Road. Block- Govindour From Chhatabad to Nadikinare(Katras Bazar) on	Dhanbad	Rural	46	sc	CFS	20	20	400	0	0	Draw of Lots	0	2
1092	either side. Block- Baghmara Between Barmasia and Belgariha , Block- Baliapur	Dhanbad	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Within 2km from Dhawachita towards Tetulmari												-	
1093	Thana, Block- Baghmara	Dhanbad	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1094	,	Dhanbad	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1095	Within 2km From Kumardubi bridge towards Sanjay Chowk. Block- Nirsa	Dhanbad	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1096	Within 4.0Km from Gawa Chowk on Gawa- Patna Road towards Gawa, Block- Gawa	GIRIDIH	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1097	Within 4 kms from Chirkunda towards Patlabari on Chirkunda-Patlabari Road, Block- Nirsa	Dhanbad	Rural	46	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
1098	Within 1.0KM from Plus 2 High school towards Satgawa on LHS on Gawa- Satgawa Road, Block-	GIRIDIH	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1099	Gawa Between Patharatand and Mahesiadighi on on Chhotki Kharagdiha- Chatro Road (Main Road),	GIRIDIH	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1100	Block- Chatro From Patlabari towards Panchet on West Bengal	Dhanbad	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
	Border, Block- Nirsa Within 3km from Pindrahat towards Barmuri on							-						-
1101	Baliapur-Patlabari Road. Block- Baliapur Between Subhash chowk and Ranguni,Tetulmari,	Dhanbad	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	)	3
1102	Block- Baghmara	Dhanbad	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1103	Within 2km from Sanjay Chowk towards Maithan dam. Block- Nirsa	Dhanbad	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1104	Nimataand,Post-Sabalpur, Block- Bagodar	Giridih	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1105	Within 4 km from Bhimkanali towards Dhanbad Chandrapura boarder , Block- Baghmara	Dhanbad	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1106	Between Pihra and Malda on Pihra - Malda Road, Block- Gawa	GIRIDIH	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1107	Within 3km from Pradhan Ghanta Railway Phatak towards Govindpur on Baliapur-Govindpur Road, Block- Baliapur	Dhanbad	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
1108	Gobargarha, Block- Nawadih	Bokaro	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1109	Within 4.0KM from Bank Of India, Maniadih Branch towards Pokharia on Maniadih -Kolhar Road, Block- Tundi	Dhanbad	Rural	46	sc	CFS	20	20	400	0	0	Draw of Lots	0	2
1110		Dhanbad	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1111	RHS. Block- Baliapur Between Mahuda More and Nawagarh on either	Dhanbad	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1112	side, Block- Baghmara Asanbani on Govindpur-Asanbani Road, Block-	Dhanbad	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	2
	Govindour From Mugma Station towards Madanpur, Block-												-	-
1113	Nirsa  Between Nilkuthi to Sasanbaria More on Sasanbaria	Dhanbad	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1114	to Pandra Road. Block- Nirsa	Dhanbad	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1115	Between Manaidih and Dhirajpur on Maniadih - Nowada Road, Block- Rajganj	Dhanbad	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1116	Between khoripanan to koridih , Block- Deoghar	Deoghar	Rural	46	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
1117	Kanjkiro- Budgadda, Nawadih, Block- Nawadih	Bokaro	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1118 1119	Village-Tikahara, Block- Gomia Village-Haslata, Block- Kasmar	Bokaro Bokaro	Rural Rural	48 48	ST CC 1 Open CC 2	CFS DC	20	20	400 400	12	30	Draw of Lots Draw of Lots	5	4
1120	Village-Araju, Block- Jaridih	Bokaro	Rural	50	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
1121	Village-KATKA, Block- Jaridih Ordana (On Peterbar Tenughat Road),Peterbar,	Bokaro	Rural	48 50	Open ST	DC CFS	20	20	400	12	0	Draw of Lots	5	4
	Block- Peterbar	Bokaro	Rural							0		Draw of Lots	U	2
1123		Bokaro	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1124	Block- Peterbar	Bokaro	Rural	48	Open -	DC	20	20	400	12	30	Draw of Lots	5	4
1125 1126	Village-Hurlung, Block- Gomia Village- Chatrochatti, Block- Gomia	Bokaro Bokaro	Rural Rural	50 50	Open OBC	DC DC	20	20	400 400	12 12	30 30	Draw of Lots Draw of Lots	5	3
1127	Village- Jarkunda, Block- Gomia	Bokaro	Rural	50	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1128	Between Bijulia Chowk to Bat Binor Middle School, Block- Chas	Bokaro	Rural	52	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1129	Village-Barkipunnu, Block- Gomia	Bokaro Bokaro	Rural	48 50	Open	DC	20	20	400	12 12	30	Draw of Lots	5	4
1130 1131	Village-Karrikhurd, Block- Gomia Village-ASHAVIHAR, Block- Jaridih	Bokaro Bokaro	Rural Rural	50 48	OBC ST	DC CFS	20 20	20	400 400	0	30 0	Draw of Lots Draw of Lots	0	2
1132	Village-Tulbul, Block- Gomia	Bokaro	Rural	52	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1133 1134	Village-Khairachatar, Block- Kasmar Village-Bagiyari, Block- Kasmar	Bokaro Bokaro	Rural Rural	48 48	Open CC 1 OBC	DC DC	20	20	400 400	12 12	30 30	Draw of Lots Draw of Lots	5	3
1135	Village-Madhukarpur, Block- Kasmar	Bokaro	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1136 1137	Village-Bagda, Block- Kasmar Village-Dantu, Block- Kasmar	Bokaro Bokaro	Rural Rural	48 48	Open Open	DC DC	20	20	400 400	12 12	30 30	Draw of Lots Draw of Lots	5	4
1138	Village-GANGJORI, Block- Jaridih	Bokaro	Rural	52	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1139	Village-Manjura, Block- Kasmar	Bokaro	Rural	52	Open ST	DC	20	20	400	12 0	30 0	Draw of Lots	5	4
1140 1141	Village-Mahuatand, Block- Gomia Village-Goniatu, Block- Nawadih	Bokaro Bokaro	Rural Rural	48 52	Open	CFS DC	20	20	400 400	12	30	Draw of Lots Draw of Lots	5	4
1142	Village-Kasmar, Block- Kasmar	Bokaro	Rural	52	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1143	Village-Surhi, Block- Nawadih	Bokaro	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1144	Either side of jhama colony road, Block- Sahibganj BETWEEN manikpur to sarasini , Block- Deoghar	SAHIBGANJ Deoghar	Rural	46 46	SC PH OBC PH	CFS DC	20	20	400	12	30	Draw of Lots Draw of Lots	5	3
1146	Village-Baru, Block- Jaridih	Bokaro	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1147	Village-Khutri, Block- Jaridih	Bokaro	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1148	Village-Ahardih, Block- Nawadih	Bokaro	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1149	Within 3 km from Dhanbad Chandrapura boarder towards Bhimkanali, Block- Baghmara	Dhanbad	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1150 1151	Village-Birni, Block- Nawadih Village-Chapri, Block- Nawadih	Bokaro Bokaro	Rural Rural	52 48	Open Open	DC DC	20	20	400 400	12 12	30 30	Draw of Lots Draw of Lots	5	4
1152	Village-Chirudih, Block- Nawadih	Bokaro	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1153 1154	Village-Palamu, Block- Nawadih	Bokaro	Rural Rural	48 48	ST	CFS DC	20	20	400 400	0 12	0 30	Draw of Lots	0	2
1154	Village-Champi, Block- Peterbar Village-Chargi, Block- Peterbar	Bokaro Bokaro	Rural	48	Open Open	DC	20	20	400	12	30	Draw of Lots Draw of Lots	5	4
					_									

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dime Sq. M.). *	nsion (in M.)/Are	a of the site (in	Finance to be a applicant	irranged by the		Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1156	Either side of patnia tola road, Block- Sahibganj	SAHIBGANJ	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1157	Village-Kander, Block- Gomia	Bokaro	Rural	52	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1158	Village-Khetko, Block- Peterbar	Bokaro	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1159	Village-Narkandi, Block- Gomia	Bokaro	Rural	48	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
1160	Village-Chalkari, Block- Peterbar	Bokaro	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1161	Between devipur to rohini via satsang, Block- Deoghar	Deoghar	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1162	Either side of stadium road, Block- Sahibganj	SAHIBGANJ	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1163	Village-Tantri, Block- Jaridih	Bokaro	Rural	52	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1164	Village-Gharwatanr Baludih, Block- Peterbar	Bokaro	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1165	Within 1 Km from Kalajharia more towards Jamtara on Karmatar Jamtara Road, Block- JAMTARA	JAMTARA	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1166	Between kunda more and Baidyanathpur, Block- Deoghar	Deoghar	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1167	Village-Baradih, Block- Jaridih	Bokaro	Rural	50	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2